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Topic:- Grad_Nutrition and Health

1) Following methods are used to Assess the dietary intake of individual:/

fed & TR =IEvr $T Sfidad H1 & fore 390 A fora faf¥r &1 Iuakr fvaT s 3
1. 24 hours dietary recall/ 24 ©¢ &t 3R Hfd
2. Weightment of raw foods/ T W Yerdf o1 YR HIO=

3. Food frequency questionnaire/ Wil dRFERAI PEIGK]
4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad Wt

2) AIDSis_____ disease:/TsH UH T8
1. Endemic/ &

2. Epidemic/ HETHRI

3. Pandemic/ddaATdl

4. Sporadic/%‘c'—{?fcr

Correct Answer :-

. Pandemic/ﬂﬁﬁqﬁ

3) When iron deficient adolescent girl become pregnant they have a higher

chances of:/ 99 MR & HHI F Hifsd frd mfadt gt @ ot P JRTIAT
3fe Bl B
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1. Preterm delivery/ 999 ¥ Ugd U4

2. High birth weight babies/ 59 & ¥HY 3{fdfd YR aTd RIFSH & o4

3. Twins pregnancy/ Jedi fRigraft
4. None of the above/dug:drl T ¥ I 7ol

Correct Answer :-

« Preterm delivery/ ¥H9 ¥ Ugd U4

4) Iodine deficiency before and during pregnancy can lead to

infants: /ﬂmﬁgﬁmwwm@ﬂﬁwaﬁﬁwﬁmﬁﬁ
g &l

1. Cretinism/ Sl (MH-an)
2. Anaemia/ IadTeddT (THITHAT)
3. Infection/ ThHU

4. Oedema/ TSHT (RA THA g1 I I o)

Correct Answer :-

« Cretinism/ sheldT (ATH-dT)

5) Food utilisation depends on:/ JTE IUART R R FraT @
1. Bioavailability/ SIg IUT=T

2. Safe and potable water/ JRférd Td U1 A S

3. Hygiene and sanitation/Iwsdl T4 Uiy A

4. All of the above/(fq?iélﬂ ekt

Correct Answer :-

« All of the above/B'q?iaﬁ ekt

6) CANCELLED

As per 2015 Global Hunger Index report India is ranked amongst the
leading countries with serious hunger situation:/ 2015 3f¥{® Y& Ja®ie KU
F R, ™R Y fRAfT arad srroft 3= & yRa &1 qi R §:

1. 40t /40 qi
2. 15th/15 g

3.10th/ 104ai
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4. 20th/ 20 af

Correct Answer :-

. 20th/ 204i

7) The causative agent of typhoid is:/ CIg®hIgs 3UA B 9raT St %:
1. Salmonella typhi/ AT CTah!

2. Botulism/ Eﬁ?ﬁﬁq

3. Algae/ aTd

4. Fungi/ &d®

Correct Answer :-

« Salmonella typhi/ AT TAH

8) In a child suffering from marasmus which of the following clinical

manifestation is not observed?/ ARAH A Uifsd 7= # 599 A HI=-971 e
Tdhe fe@rs 18! 4T &2

1. Watery diarrhoea with acid stools/ 3T A & 1Y T oY %

2. Subnormal temperature/ I ¥ &H dIOHH

3. Visible peristalsis from thin abdominal wall/ 3R ! Tdel GlAR ¥ HHTGAT QTS TSl
4. Generalised oedema/IHRIIGd TSHAT

Correct Answer :-

. Generalised oedema/IM=Ihd TS

9) Which of the following factors affect foetal growth during pregnancy?/

TUfaRT & SR M Ry #1 3fE #3780 A FF-91 FRS qUTAIT HaT 82
1. Nutritional status/ o fRufd
2. Hygiene and sanitation/ wsdl T4 3(UfRY Aarg

3. Genetics/ 3TdRIb!
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt
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10) Which of these following pair of disease caused by virus:/ §=|1?r T BIF-91

AT-grw fawugei grRT g @2

1. Rabies and Mumps/ Y&iiel U4 HUTHERNY/ TGS (HH)
2. Typhoid and Tetanus/ TEHIES 3R T

3. Cholera and tuberculosis/ g4l @TW@W

4. None of above/'o”q?jfﬁ oY P 8!

Correct Answer :-

« Rabies and Mumps/ Y&IS1 Td HUARNY/TAGSM (HH)

11) Anthropometry measurements such are height, weight, skinfold

thickness are valuable indicators of:/ ﬂﬁlﬁf Jra=h HIYA, o FTET{', HIR, 'ﬁ@ﬁ oadr
Pt Mers 3nfe, & Heayul Jdbd® o

1. Pellagra/ e

2. Biotin deficiency/ ifed & B
3. Nutritional status/ 9ol fyfa

4, Dermatitis/ A=Y

Correct Answer :-

« Nutritional status/ Tvor fRufa

12) The toxin present in kesari dal leads to diseases called
Lathyrism:/ TSI} @ # IufRAd AP Siafay sarags (FAHT0ET) e
INT AT BT 8:

1. Beta gamma amino acid/Tq%T AT ST 3R
2. Beta oxaly amino alanine/ sl 3iigoldll SHA! Ta—
3. Beta hydroxyl proline/ dlcT gRISIaRId Uiei

4. Beta alpha amino acid/seT 3femT S 3T

Correct Answer :-

« Beta oxaly amino alanine/ SeT Sifgoient A wﬁr—r

13) A macro nutrient whose primary function is tissue growth and

maintenance:/ T& Jg¢ WY® dd et 1 o1 a9 gfe Td I@REd 3:

1. Fats/ 941

2. Carbohydrates/ ®TaIgI3SC
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3. Proteins/ I
4. None of these/ 370 q &I Tal

Correct Answer :-

« Proteins/ UI¢H

14) Inadequate pituitary function and elevated plasma growth hormone is

associated with: /9y I $t srderar sraaf g1 iR wireHT # i g = &1 R
I § ¥ g F 1Y G 8:

1. PEM
2. BMR
3. SDA

4. TEE

Correct Answer :-

« PEM

15) Mumps is an infection of:/ HUHAMY/TAGSAT (TI) ®T AHHT 8:
1. Parotid gland/wqa‘ (ail 33) DI}

2. Submandibular gland/ 3afRgH I (FeHfSIR) TRy

3. Sublingual gland/ 3{HISTET (FafeRTsre) af~r
4. Submaxiallary gIand/G{ﬁﬁETH (Wﬁﬁ?{ﬂﬂ) =y

Correct Answer :-

. Parotid gland/®Uuiqd (RIfes) Ay

16) The physiological fuel factor: one gram of fat yields:/ Y8R fparar® su
PRS: TP ITH a1 WTw gl g

1. 8 kcal/8 fHadar!
2. 9 kcal/9 fHaimant
3. 7 kcal/7 faidmant
4. 6 kcal/6 fraimaRt

Correct Answer :-

« 9 kcal/9 fraipar
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17) A child has presented with growth retardation, inability to walk and
bruises all over the body. Which of the following nutrients should be
recommended as a supplement to be diet?/ T&% T P q@ afeed %, 98 9d el
TPl ¢ 3R ITF P IR R 1 08 g &1 3MeR 4R & ©U # 390 I oy 0ve a«
3T gara fean s arfeu?

1. Milk/ g4

2. Egg yolk/ 3fS &t ordf

3. Pulses/ qId

4. Citrus fruits/Ricq URaR & wa (Hw, IR, g 3fe)

Correct Answer :-

. Citrus fruits/Rice URaR & wa (Hw, IR, g 3fe)

18) The goal of treatment of tuberculosis is to:/ TERFAINTT & IUAR BT A T
1. Ensure high cure rate/ 3= m Rﬁﬁﬁﬁ HAT

2. Minimise relapse/ gﬂ(quﬁ GAdH hRAl

3. Prevent emergence of drug resistance/ 3N UfeRIY @1 Iafy A
4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ Iudad i

19) Balwadi Nutrition Program is a health care and education program
launched by Government of India in 1970 which provides food supplement:/
TSt Uyl HRIHH HRT SXPR gRT1 99 1970 F R®Y fo5a1 a1 to Wa d@UTd U
fgror erdww g Y &1 Jgul YIS YT $edT @

1. 300 kcal/ 300 fHadrart
2. 500 kcal/ 500 f&aibant
3. 288 kcal/ 288 fHalmant
4. 400 kcal/ 400 fHaimaRt

Correct Answer :-

« 300 kcal/ 300 fHaibart

20) Pre conception and prenatal diagnostic techniques act focus on:/ THYRU-

ud T4 wa-qd A9 (SRR ®) de-e sifufay W Hfzd @
1. Preventing female foeticide abortion/ HTal YUr TUTd ®t AHUH
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2. Preventing sex detection before birth/ SIH q usa it uga™ &t B UTH

3. Comprehension and appropriate counseling to couple/ cufd &I U T SUYdd Rt
4. All of above/Iudad et

Correct Answer :-

« All of above/3Iuddd It

21) For a healthy well-nourished adults energy requirements is equivalent

to:/ W UG quws P Self JTazasar & FAGE gt §
1. Total energy expenditure/ ﬁ@)‘_\rﬁm

2. Partial energy expenditure/ 3fifi® ol agg

3. Incomplete energy expenditure/@{ﬁ%ﬁm

4. None of these/ E:FEI q aﬂ‘a‘ EE

Correct Answer :-

« Total energy expenditure/ $d Sl oI

22) Goitrogens are the chemical substance interferes with ___ utilization
from thyroid gland:/ TTgeIe d IrATAf~® gy 8 ot 3rag (YRRTSS) =) ufyw
& ST § gAY Fd B

1. Vitamin B1/ faeifiq B1
2. Vitamin B3/ fderf#= B3
3. Iodine/ TS

4. Vitamin B6/fdcTi® B6

Correct Answer :-

« Iodine/ 3MASH

23) Classification for grades of malnutrition based on Mid upper arm
circumference values considered severely malnourished:/ SWI gig Bt

iy & SMYUR R HUITor &1 Af0r o aeffewor & foe 74 3 foog a9 & ik o 3
PUIa 3t Joit & @1 Srem?

1. More than 15.5 cm/ 15.5 9t ¥ 31f¥®
2. More than 13.5cm/ 13.5 9t O 31fd%

3. Less than 12.5cm/12.5 9 ¥ &H

4. None of the above/B“CI?iEH T ¥ I ol
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Correct Answer :-

« Less than 12.5cm/12.5 TH ¥ &1

24) Which of the following is a problem not experienced during pregnancy?/

mufart ® 379 & g gu=n &1 sgya T8l gaT 32
1. Nausea/3sbTs

2. Oedema/ TSHAT (RA UHH 511 H I Yo)

3. Vomiting/GT*Iﬁ'ClT

4, Tooth decay/E"T'cﬁ T gsd

Correct Answer :-

. Tooth decay/aidl & Tea

25) Vitamin A or retinol (preformed vitamin A) is found only in foods of:/

faerfm A wr ¥feqta (Wffa faefm A) Faa_ visg yerdf & uran wimar @:
1. Plant origin/ UTGU Hd &

2. Animal origin/ﬁﬂﬁ%

3. Fungi/ & d%

4. None of these/3T8 ¥ &I Tl

Correct Answer :-

. Animal origin/ 5= Hd &

26) For a healthy outcome of pregnancy, expectant mothers should be given

supplementation of:/ THIaGRIT & W ufvomy & forg, mfadt amarsit # &1
g feam s =ty

1. Iron and folic acid/ 3R T4 HIfd® 3
2. Vitamin A/ faeTie= A
3. Vitamin D/ fger= D
4. Vitamin K/ faeifiq K

Correct Answer :-

« Iron and folic acid/ 3R T4 Bifcis 30
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It is defined as weight in kilograms divided by the square of height in
meters, it is also termed the Quetelet's index:/ 39 @My # 4R &I diex #
s & o A fauTRig $3% urd wva §, 39 Pede gaaie W #Ed §:

1. BMI
2. BMR
3. RDA
4. DRI

Correct Answer :-

« BMI

28) Which of the following group is more vulnerable to fractures and calcium

geficiency?/ 38 A PIF-1T1 e TR 3R Hfekraw 3t &t & ufy st srRféa
?

1. Adults/ dUIH
2. Adolescents/ fhRIR

3. Elderly/ Eﬁﬁ
4. None of these/ E:FEI q ﬁ'sf el

Correct Answer :-

« Elderly/ 7

29) Excessive intake of Macronutrients and sedentary lifestyle leads to:/ dg¢

Y awl & AAfP e ok fftra sitamsiel & HRor &1 g 3:
1. Good health/ =31 WY

2. Prosperity/ J®Adl

3. Obesity /IﬁE'ITIT

4. Healthy lifestyle /R Sita+T el

Correct Answer :-

« Obesity / Hiemdl

30) Clinically Vitamin B12 deficiency leads to a condition called as:/ TfA&d
=Y A, faerfi= B12 9 +Hl & sRUr e fRufd I gidt 2

1. Iron deficiency anemia/ 3TRA SRR wiftrr (de —grar Jgaredd)
2. Pernicious anemia/ Eiipiess Q‘ﬂﬁltﬂ



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. Bad breath/ 919 & gif
4. Tooth decay/ gidl & g4

Correct Answer :-

« Pernicious anemia/ TR Qzﬂﬁﬂﬂ

31) It is recommended that during the first six months after delivery the

infant should be exclusively:/ T8 IR $ wTc § P 7T & 916 & IR ©:
el | Aaurd g & dad 1LY

1. Bottle-fed/ Siad ¥ g4/3MER U
2. Weaned/ ¢¥ gSil

3. Breast-fed/ ¥dUT AN

4. Formula-fed/ s &1 g4/ 3MMER U

Correct Answer :-

« Breast-fed/ XUl Al

32) The five food group plan permits an individual to plan a menu to achieve
nutrient intakes as specified by:/ U HIsa IHg dreT gR1 gy1 fAféy vrue
T STURUT U He & T Gt duR = &t giaer <t @

1. RDA

2. UN

3. UNESCO/J%®!
4. All of the above/ Iudad Tt

Correct Answer :-

33) Phosphorus plays an important role in the formation of:/ Laraare:|

& fomtor & wgwgef yfreT A &

1. Bones and teeth/ 3T 3R gidl

2. Hair/ &9

3. Maturation of red blood cells/ TTe Yo BIRBTS & GRYD

4. Healthy skin/3Xd¥ oddl

Correct Answer :-
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. Bones and teeth/ 3RRAT 3R Tdf

34) Complications of pneumonia could result in:/<HAT St Ffeaany BT
PRI 9 Al 8

1. Increased heart rate/ gaaid & q@

2. Difficulty in breathing/ g o § wfes
3. Both of the above/ RERCSRAL]]

4. None of these/3TH ¥ B8 gl

Correct Answer :-

« Both of the above/ RLCIESRAGI

35) Angular stomatitis, glossitis, cheilosis are the deficiency symptoms of:/

ﬁvﬂuga;w (Q%J_av wWiersfew), fogrmy (Fa@arsie) sk sigfaewar (Fafm)
&Yl B:

1. Calcium deficiency/ SfeRH &t HH

2. Riboflavin deficiency/ JgaTifd= &1 HHI
3. Vitamin C deficiency/ faerfiq c &t &
4. Vitamin D deficiency/fdeii®= D &1 &t

Correct Answer :-

« Riboflavin deficiency/ JgaItifa" BI HHT

36) Which of the following is communicable disease?/ 374 ¥ $I9 U HIRURNA
T 8?2

1. Diabetes/ I{ﬂ'ﬁ%’

2. Dipetheria/ fewiifar
3. Kwashiokar/ ®TRRHR
4. Marasmus/fR'IW

Correct Answer :-

« Dipetheria/ fe®iifear

37) The predominant sign of vitamin K deficiency is:/ faeif¥qa K &t &4t &1 qeq
Td&bd %:
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1. Haemorrhage/ Yaddld

2. Weight gain/ a9 de-T

3. Polio/ Giferdl

4. Tuberculosis/ &4 T (Wﬁm)

Correct Answer :-

« Haemorrhage/ Yaddld

38) What are the necessary steps to be taken for prevention of Dengue?/ @11

B AHUYM & T IBTT A a1 SHTIAS FGH FT 32

1. Environmental hygiene and sanitation/ Jgiaruiyg Wwadl Td Uiy Fam
2. Use of mosquitos repellent/ HwR YA dTel SATG] T ST

3. Protection through proper clothing/ IId 9%l & HIeH 9 Ryl

4. All of the above/3dad It

Correct Answer :-

« All of the above/3Iudad

39) Energy requirements during infancy are very high because this is one of
the periods of very:/ ARAHIA SHull ATIIAHATE Tgd TP gIelt § KNP Ig 9gd
_ wrERmidd e E:

1. Rapid growth/ did f{@

2. Rapid teeth formation/ afal & g fAmfor
3. Rapid walking/ dsil ¥ Ia-

4. None of these/ 318 J ®Is g1

Correct Answer :-
« Rapid growth/ did dfs

40) A healthy expectant mother, consuming nutritious diet and regular
physical exercise have a good chance of giving:/ WY& 38R A4 arel vd fAafia
U I ARG Ay 34 arelt @ Tad qrar & ara | P BT JRYTAAT

gIdl 2
1. Normal birth/ I9THII Udd
2. Caesarean birth/ HoIRTT T9q

3. Complicated birth/ Sifcd Ia
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4. None of these/ 3:|'~ef | ﬁ%ﬁ TEff

Correct Answer :-

« Normal birth/ ITHII Udd

41) The "Purdah"/"veil" system decreases the availability of:/ “tla'f“ / "E]'"\'EE"
a7 P IUAKIT Tl B

1. Vitamin A/ faeifia A
2. Vitamin ¢/ faerfi= €
3. Vitamin D/ fger= D
4. Vitamin K/ faerid= K

Correct Answer :-

. Vitamin D/ f[deIf#= D

42) Major commodities distributed in public distribution system include:/ S+

faawor yomreht A faafa 819 arell ger axgait ¥ =i &

1. Clothes, medicines/ d3d, ufert

2. Wheat, rice, sugar, kerosene/ g, 91dd, Tz, gl &1 da
3. Vegetables and fruits/ Tfesrdi Td B

4, Immunization/ﬂ'ﬁﬁ&ﬂw

Correct Answer :-
« Wheat, rice, sugar, kerosene/ ﬂ'§", ldd], R[Ny, ?-Ié P dd

43) A healthy well-nourished expectant mothers usually gives birth to a:/

W], guifa mifadt #rar e ®I o el §:
1. Heavy baby/HR} ﬁml

2. Healthy baby/Wﬁrﬂ

3. Stunted baby/ 3fedfdd RId Y

4. All of the above / Iudad Wit

Correct Answer :-

« Healthy baby/ @& fRig
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44) MMR vaccine provides protection from following diseases:/ MMR d=Rf9

38 9 fra I 9 gRam &t 3

1. Measles/ @I

2. Mumps,/ HUHTRNY/ TGS (F)
3. Rubella/ ¥&dl

4. All of the above/B'q?iaﬁ gt

Correct Answer :-

« All of the above/B'q?iEH ekt

45) Following are the determinants of food security except:/ 34 ¥ fpa
Bredr 3 favey, @re Grem & Hulze §2

1. Food availability/ Qr<] USRIl

2. Food accessibility/ @r<l JTHdl

3. Food utilization/ &g JUdIT

4. Food marketing/@re fauume (Ardhfdm)

Correct Answer :-

« Food marketing/@re fauur (Hrehfem)
46) Pandemic of disease refers to:/ gdoardt (ﬁ%ﬁlﬁ) T BT arzfgm?r' J fraa %:
1. When spreads through-out the world/ S I7T QR fay o el SQ

2. When spread among below poverty line population/ ST& T TRIdT @ ¥ i X8+ a1a
SO | e gt

3. When spreads only amongst geriatric group/ & T WEW H el 1

4. When spread is mostly observed in urban population/\_rITq’@"T STYHIRIG: TR S o
W gl

Correct Answer :-
« When spreads through-out the world/ 5id @TUE fay o %o ou

47) Gestational diabetes during pregnancy may result in baby's with:/

THTTRITHTAT HYHAT & PRI ______ Il I BT 9 g1 APl :
1. High birth weight/ S/ &% 979 31f¥% YR

2. Low birth weight/ 7 & ¥Hd &H UR
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3. Normal birth weight/ S/ & JHI JTH HR

4. All of the above/3udad It

Correct Answer :-

« High birth weight/ S/ & 89 & YR

48) Undernourished pre-schoolers are prone to:/ Srequiyd qg‘-ﬁmaﬁ g |
_ B9 & gwuTaen S gt 8

1. Protein energy malnutrition/SeId 3ol HATHOT
2. Protein malnutrition/ UIeiH Ul

3. Energy malnutrition/ &l HUNOT

4. All of the above/B'q?jaﬁ gt

Correct Answer :-

« All of the above/B'q?iEH ekt

49) Scurvy is due to the deficiency of:/ ¥pdf B HH! & PRI T 8-
1. Vitamin ¢/ faeifiq ¢

2. Fat/ dd1

3. Carbohydrates/ ®TEERIGE
4. Vitamin D/ fde®= D

Correct Answer :-

. Vitamin C/ faeTi#= C

50) The bacterium Haemophilus influenza lives in:/ SHIBTSAY SUAET ATH®

i o vgdT ©:

1. Nose and throat/ 91 d Tl
2. Intestine/ 3ffd

3. Heart/ §ad

4. Stomach/3MHRY

Correct Answer :-

« Nose and throat/ A& g Td
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51) The process of introduction weakened pathogen in the human body is
called:/ #T99 YRR H &ftor 91 fou W Ivoe &t ufay H14 @1 uferar ) Fed
f

1. Immunization/ UfaReftem=ur

2. Vaccination/ EEAGELI

3. Attenuation/&uH

4. None of these/stlﬁ q ﬁ'sc T8l

Correct Answer :-

« Vaccination/ eIl

52) One kilocalorie is equal to:/ TP fpeldpaRl PRI &
1. 4.184 kilojoules/ 4.184 foae@

2. 4.284 kilojoules/ 4.284 fadld

3. 4.148 kilojoules/ 4.148 fad@
4. None of these/ sﬂﬁ J aﬂ‘{ EE

Correct Answer :-

« 4.184 kilojoules/ 4.184 foae@

53) Recent studies have indicated the need for the inclusion of arachidonic
acid and docosa-hexaenoic acid (DHA) in food for infants as they are

particularly important for:/ gIferar Sieaal & Hebd i %%Wﬁ’ﬂ{[@f% Yo
H WfFsSE o IR SIHT-gRIg® 3% (DHA) Bl MU HIA DI SMAHIAT
P & ¥ e faRlvw =u & weayf &

1. Bone development/ 3Rai & faemrg
2. Liver development/ & d & fapmg

3. Brain development/ AT & f[d&Td
4. Eyes development/ =31 & fa&rg

Correct Answer :-

« Brain development/ AT & fa&mm

54) Iodine deficiency disorder in Adolescent could result in:/ ICRURIGES K]
TS T R e @ B WPl o:

1. Juvenile Hypothyroidism/ f&RIR fag3redishadn (SJa-Tsd TR SSH)
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2. PEM
3. Pernicious anemia/ TR Q:W&ITIT
4, Scurvy/@b@f

Correct Answer :-

« Juvenile Hypothyroidism/ f&RIR sfageredfehaar (Fa-Tsd gIRUIURRIAISH)

55) Which of the following is a monosaccharide?/ 70 ¥ $I9 & HIHIAHUSS 82
1. Lactose/ ddeS

2. Maltose/ ATISI

3. Galactose/ ﬁ@lﬂiﬁ\_ﬂ

4. Raffinose/ Xfthrat

Correct Answer :-

. Galactose/ Tidiacial

Topic:- Grad_General Knowledge and Logical Ability

1) Naveen walks 20 m towards East, then he turns left and walks 10 m, he
again turns left and walks 20 m. How far is he from his starting point?/ ECIE]

7d Ft 3R 20 e Iar, b= 9iT gsar 10 e I, 98 b A 918 go1 3R 20 Hiex Tan|
9% I YRR fig A fra-ii gt R § 2

1. 10 meter/ 10 Hiex
2. 50 meter/50 e
3. 40 meter/40 Hiex

4. 30 meter/30 Hiex

Correct Answer :-

« 10 meter/ 10 Hiex

2) The Dowry Prohibition Act of was an effort at government
level to eradicate the evil of dowry./ gg fAuYy srfafaas, 8o DI PUUT &
A 8g IXPRI TR R fHar T v o1

1. 1970

2.1971

3. 1959
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4. 1961

Correct Answer :-

« 1961

3) Facial deformity, defective limbs, heart problems, cognitive impairment and behavioral
problems in young children may be a sign of maternal abuse of which substance during

pregnancy: /DI g # 9g) @1 fapfa, Qrugef g1y-1R, geu W=l gun, IS e, iR
HaER T TEATY, TUTTRIT & SR 91T gRT {59 Aed uerd & $uanT 1 Wdbd gt gbdl 82
1. Chloride/ IRISS

2. Alcohol/ Tehigd

3. Salts/ /a1

4, Tobacco/ el

Correct Answer :-

« Alcohol/ Tehigd

4) The Head of Zilla Parishad is a:/ forar ufvug &1 gfEm gian &:
1. Chairman/3{&9&

2. District Magistrate/ ﬁﬁﬂﬂﬁl@j

3. Gram Pradhan/ 9MH Ui

4. Councilor/ UTSg

Correct Answer :-

« District Magistrate/ el AfSRee

5) DIRECTIONS: Find the missing number./feI: W JS=AT JTd Be |

14 |198
19 |?

1. 325

2. 418

3.522

4. 363

Correct Answer :-

e 363
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6) During delivery of a baby, the process during which the cervix becomes nearly fully dilated
and the head of the fetus begins to move into the birth canal is called:/ R3] 1 54 dd 954, fre
wfspaT & SR Tufzr far (afdewT) au . @ o ot 8 iR MR Rig) &1 RR o7 e § emit
T SR P 31 82

1. Transition/ ThHUT
2. Labor/ 9&d
3. Breech/ 3 ST ()

4. Crowning/ STHIT/HISA (HI3HT)

Correct Answer :-

« Transition/ hHUI

7) In MS Office, work sheets are prepared in:/ THTH 3ifpyg fr', gHhfic frad duR giat %:
1. MS-Word/ THTH-a8

2. MS-Excel/ THUH-UR T

3. MS-Access / QTIWQEFQH

4. MS-PowerPoint/ THIH-UTGR Wi

Correct Answer :-

o MS-Excel/ THUH-URTA

8) The 73'9 amendment act of Panchayati raj was done in:/ UaTaedl IS
Sftferam o 73ai Sxneq 59 af foear Tar o:

1. 1991
2.1992
3. 1993
4. 1994

Correct Answer :-

« 1993

9) DIRECTIONS: Find the Mirror image of the given figure./ e & wht GHTI%[
o1 guor yfafers Jra &3

Question figure/ Y arrﬁ%

Nl|
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Answer figure/ 3T} Gﬂ?ﬁf

ZINIPYIN

@ ® @©

4. d

Correct Answer :-

10) FAS refers to which condition:/ FAS &T 3¢ forq fRufa 9 82
1. Facial abnormality system/ T TeAHTere RieH

2. Father absence syndrome/ HTex Tt g

3. Fetal ammonia syndrome/®icd SAiFar Rigw

4. Fetal alcohol syndrome/ hicd Tehigd RigH

Correct Answer :-

« Fetal alcohol syndrome/ icd Tehigd Rigid

11) The term social justice was first used in the year:/ Ug IATHT® <ATd BT
ST & Ugd 9y # o T o

1. 1840
2. 1856
3.1948

4. 1950

Correct Answer :-

12) If ‘Lily’ is called 'Lotus’, ‘Lotus’ is called '‘Rose’, '‘Rose’ is called
‘Sunflower’ and ‘Sunflower’ is called *Marigold’, then which will be the
national flower of India?/ afe '$Yfei" B ‘HU’ FHaT WAl 8, FHA’ B! [ATS’ Hal
1T B, A’ Bl GROGE! HT ATl 8 3R RO EL B el HeT Jdl § af WIRd B
TPTT G B AT GRI?

1. Lily/$afe
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2. Lotus/&HA

3. Rose/ T[dld
4. Marigold/Tial

Correct Answer :-

13) A person pedals from his house to his office at a speed of x; km/hr and
returns by the same route at a speed of x5, km/hr. His average speed is:/ T®

STt A TR | Fratay & Ugd x, fHHl/aver &Y wfa 3 wrar 8 ofv I IRd A x, fodty
HUeT 9 Tfd A 9199 3ATdT g1 TSB! 3iad Tfd 8

X1+ Xz
1. 2

X, + X
2. 3

3 X1 Xg )
4 1 + Xz

ZX:L . Ko

4. X1 + Xz

Correct Answer :-

ZX:L. Xg
. F1 + X

14) Rs.4,200 is divided among Kamal, Dev and Rajat in the ratio of 7:8:6
respectively. If Rs.200 is added to the amounts of each of them, find the new
ratio of their amounts./¥Td 4,200 &} TP 1A HAA, 39 3R IoTd S 7 HHT: 7:8:6
& 3rqurd A faurfora @1 wrdt 81 afe 398 | s o Af A T 200 s f&A S¢ a1 37t
TR BT 47 3UTd JTd D¢l

1. 8:5:2
2.7:9:5
3.7:8:6
4.8:9:7

Correct Answer :-
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DIRECTIONS: Choose the missing terms out of the given alternatives./ fra:
feu T faweni o 9 g ug J1d BY |

a-cd-b -dabc - abc - abc -

1. acbdbb
2. abddbd
3. adbcad
4. bacddd

Correct Answer :-

e bacddd

16) Training and Visit System was introduced in India in the year:/ YRd A
WIR&OT T ITAT YUTTeH B &S 39 AT A §5:

1.1974
2.1975
3.1976

4. 1977

Correct Answer :-

« 1974

17) Full form of ICT is:/ ICT &I I 14 g:

1. Integrated Computer Technology/ $ERICE HUCR caar (Udighd B WeNfibT)

2. Information and Communication Technology/ hIHRM U8 HRIHHIH caTaion (ga-T
Td AR W)

3. Indian Computer Technology/ 3f&a- &eR TaaioT (MR B e Ui

4. None of the above/ SWIad H T &g gl

Correct Answer :-

« Information and Communication Technology/ Wﬁﬂq@mﬁwm(w
Td TR W)

18) A cistern has a leak which would empty it in 8 hours. If a pipe is turned
on into the cistern, then leak will empty the cistern in 12 hours. Find the
time taken by the pipe to fill the cistern, if leak is closed./ W@‘dﬁﬁ # 8 °e
H @relt # 3aT 31 afe Th 7 S Bt § U WA 8, AT 8 d DG bl Bl 12 6 | Wreit
AT g1 T B WA B 79 F gRT R 4 guwg g1 Y, e D¢ 9 72
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1. 20 hours/ 20 ©¢
2. 24 hours/ 24 ot
3. 30 hours/ 30 ©¢

4. 45 hours/ 45 G¢

Correct Answer :-

« 24 hours/ 24 ¢

19) The average of 50 numbers is 45. Later on, it was discovered that two
numbers were misread as 12 and 19 instead of 21 and 91 respectively. Find
the correct average./ 50 J@IT3{l &7 3 45 &1 I1¢ A 3471 74T foh S HBATT HHI: 21
3R 91 & WY et & 12 3R 19 Ug & WA &1 It ofaa w1 i |

1.48.15
2.47.45
3.46.62

4.45.52

Correct Answer :-
e 46.62

20) Pointing to a photograph a woman says, “He is the son of the wife of my
husband’s father”. How is the man related to the woman?/ waﬁ?aﬁ 3T

SYRT Hd §U U ATSaT bed! @ b, "ag AN ufd & far &1 ucht &1 31 21 98 e} 39 afgen
¥ fora uprR It 82

1. Son/dcl

2. Son-in-law/<qMHTg

3. Father / fOd

4. None of these/3TH ¥ &5 7ol

Correct Answer :-

« None of these/gﬂﬁﬁaﬁéﬁ

21) Protection of Women from Domestic Violence Act was passed in the

year:/ T¥q fEar & afgarsii @1 Jrem sy adf T urfed gom o
1. 2000
2. 2005
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3.2010

4, 2015

Correct Answer :-

« 2005

22) National Rural Health Mission was stared in the year:/ TI'Q’I’H‘JITFﬂ'UTW
i &Y geana fra I §8:

1. 2003
2. 2004
3. 2005
4. 2006

Correct Answer :-
« 2005

23) Which answer figure will complete the pattern of the question figure? /

e d Q i A 3R srpfa wy snpfa &t guf wvft?
Question Figure /795 31 Answer Flgures /300 3Tafaan

uj
7
] O
-] .
ul m [y
na! (3) ®) (©) d)
1. a
2.b
3.C
4.d

Correct Answer :-

24) The nodal ministry of the government of India for the advancement of
women and children is:/ Afgarsii td g= &1 SATd & [T YRT TRPR F1 Al T4
&

1. Ministry of Social Welfare/ JHTS & cT0 HATTd

2. Ministry of Women and Child Development/ Afgdl Td a1d fds 1 Hare™
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3. National Commission for Women/ TI'@'JH%FIT SN
4. None of the above/ SWRIad # q &5 Tal

Correct Answer :-
« Ministry of Women and Child Development/ Afgdl Ud aTd famr Hare™

25) Child Marriage Restraint Act 1929 was replaced by:/ 919 fdarg Ry
SfUFaT 1929 &1 = ... A forr umi

1. The Prohibition of Child Marriage Act 1978/aTd faare ey sifdf=aw, 1978
2. The Prohibition of Child Marriage Act 2006/ §Td faaTg fAue 3fafwm, 2006
3. The Child Marriage Restraint Act 1974/ §T1d faarg =Ry sifdfaH, 1974

4. All of the above/ G‘G{[ﬂﬂﬂﬂ-ﬁ

Correct Answer :-

« The Prohibition of Child Marriage Act 2006/ ST fadTg vy 3ifefTH, 2006
26) ‘Ctrl + X’ depicts:/ ‘Ctrl + X’ USRid &1 8:

1. Cut/ &e

2. Copy/ il

3. Clear/ fRmaR

4. Save/ Jq

Correct Answer :-

27) CANCELLED

The NAIP was launched in the year:/ NAIP aﬁwanas'aatfﬁ'gi:
1. 2011

2.2012

3.2013

4, 2014

Correct Answer :-

« 2011
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28) ‘Ctrl + B’ depicts:/ ‘Ctrl + B’ URfd &1 g:

1. Ungroup/ 344
2. Bold/ SIS

3. Backspace/ SH&Y
4. Save/ T

Correct Answer :-

. Bold/ I

29) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /31 T fU 7T wxA A 0 FU 3R 3P 918 $© Frepd faw 7w g1 smuwt
fou ¢ YT B TG ATAT 8, Y g 9 Jagnd aat A fy=1 udia g1a g1 1 9+ft feput @1 ufew
mﬁa@mﬁmwﬁwﬁ'ﬁﬁﬁﬂmaﬁm FU I SR HA1 8, I8 FagTd
O |

Statements: /HYA:

All windows are doors./ Tt 1%3%!11 Wﬁ %

All buildings are doors./ 9! ARG &ars &

All doors are boats./ Taft mﬁ :I'I'q'%

Conclusions: /o

I. All windows are boats./ It %ﬁfﬁﬂﬂ Hﬁ?

I1. All buildings are boats./ Tt ETI'R?[ :ﬂ'q'%

III. Some boats are doors./ﬁﬂﬁmﬁ g

1. If only conclusion I follows /ﬂ%mﬁwﬁl &IENTUTW%

2. If only conclusion I and III follow/afE Fad sy I SR 111 HEHTUTHO_{?T%
3. If only conclusion II and III follow /3f¢ %ad fAtsd 11 3R 111 3FERU HRd &
4. All follow/ Tt ST¥RUI HRd §

Correct Answer :-

« All follow/ T} S T¥RU FHRd §

30) The computer which works on discrete data is:/ FRTR BT W FH B ATAT SR Hadrdl
B

1. Digital Computer/ fSfSied degex
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2. Hybrid Computer/ gT3fsig &R
3. Analog computer/ TTANT SR
4. Dell computer/ ST HTLE

Correct Answer :-

« Digital Computer/ f$fSred e

31) Find the correct pair:/ H&! g ge:
1. IUDs- Cervical caps/ IUD—FIEIEW &Y

2. In vivo fertilization-ZIFT/ Sfid (3 faaT) As==-zIFT

3. Intro cytoplasmic sperm injection- IUT/ 3fcRT HIRTHIEH YHIT] 3 AT0T (ST W TATGHS WY FolaR)-
IuT

4. In vitro fertilization- Test tube baby/ BIP] (= ﬁ?j) BLERE Wﬂ?ﬁﬁrﬂ

Correct Answer :-

« In vitro fertilization- Test tube baby/ U (371 ﬁ?ﬁl} IBLERE Wﬂﬁ"fﬁﬁl
32) The germinal period occurs:/ S 3afy 9 gl 8:

1. When the fetus becomes viable/ ST& My Y] Sfia=em & SIrem 8

2. Two weeks after conception/ THYRUT & &I TwTE 91

3. 6 months after conception/ THYRU & 6 ATE dIE

4. Before conception/ YR ¥ Ugd

Correct Answer :-

» Two weeks after conception/ YR & qUdlg dig

33) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fad=r: fFufafEd uy & users e () & ®=H
TR TR P AT AT AT ?

89.988% of 699.9 + 50.002% of 999.99 - 170.015 = ?
1.1920

2. 800

3.905

4. 960

Correct Answer :-

« 960
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34) Personal Computers or desktop computers are examples of:/ T FHER T STHIT HIEX
frad Iererr 3

1. Mainframe computers/ A9 A W
2. Mini computers/ T e

3. Micro-computers/ ATSh! HECR

4. Super computers/ JuR HICR

Correct Answer :-
« Micro-computers/ TSI HEE

35) Combination of the best features of both digital and analog systems is:/ f&fSted g TAm@MT
S yomferal &1 et afvryor

1. Hybrid Computer/ 8T2fa€ HuIex
2. Analog computer / TATENT X
3. Dell computer / S HHR

4. Digital Computer/ f$fSied dgex
Correct Answer :-

« Hybrid Computer/ B2fsig HER

36) Select the correct order of periods of prenatal development:/ Wia-Ud fa®Td @1 @ik &1
LHEDECP

1. Germinal-embryonic-fetaIW—HUTJT%
2. Embryonic—fetal—germinaI/‘J;LUTJT'J-T\_rT—W
3. Germinal—fetaI—embryonicﬁi‘f%—ﬂ*ﬁf—?{w
4. Embryonic—germinaI—fetal/?;LUT—GH'W—iT‘J-H

Correct Answer :-

. GerminaI-embryonic—fetaI/GIW-?{[UT-‘Tﬂ-TGf

37) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ =, Frafafad vy A yyares e ?) & =
TR TIHIT DI AT A ST 2

675.456 + 12.492 x 55.671 =?
1.1971

2.1071


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3.1171

4.1371

Correct Answer :-

« 1371

38) Which of the following has discoidal placenta?/~¥ # ¥ f&x@esd MRt
TTT SITdT 82

1. Rabbit/ T

2. Deer/%TUT
3. Sheep/ﬂ?gvr
4. PiggsRR

Correct Answer :-

. Rabbit/ TN

39) Find the single discount equivalent to a successive discount of 20%,

15% and 10%./ 20%, 15% 3R 10% @ &< HHNTA Fel &b SRTER TH Fe q1d PHT|
1. 52.6%

2. 45%

3.42.2%

4. 38.8%

Correct Answer :-

« 38.8%

40) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ 3T fFrafaf@a urg aré &1 eagde® sreaa #= - feg Te uy
& I Gyl

Yearly expenditure of a family on different items / faftra wel R WQﬁ‘q'l'\' Caj
qg
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Education/

Food/3a=1, 25%

Miscellaneous/

fafaw, 10%

Saving/¥9d, 5% Petrol /AT, 10%
HOUSS Rackr e Clothes/®9z1, 10%
ARr, 13%

Travel/ars, 12%

If total expenditure of family is Rs.1,70,000 per year, then how much does
he expend for house rent per month approximately? /af¢ ufaad ufvar &1 $a
T4 ¥4 1,70,000 B, 1 UF ATE TR & B W ey foba=m @ 82

1. Rs.22,100/%. 22,100
2. Rs.20,000/%. 20,000
3.Rs.1,840/%. 1,840
4. Rs. 2,000/%. 2,000

Correct Answer :-

« Rs.1,840/%. 1,840

41) Kanya Vidya Dhan Programme provides fund for:/ =1 faen o« srdwH g
B & T 47 ST HT &

1. Marriage of girls/ dsfepdl & faare

2. Education of girls/ @Wﬁfi’f&ﬂ
3. Feeding of infants/ ﬁﬂ{l@f% SIEIR
4, Birth of girls/ dsfepdl & o

Correct Answer :-

« Education of girls/ @sfdal B e

42) Learning without burden was the report of:/ Si% fa=r srftrm @fH fagrse
TSH) ot feaid ot

1. Kothari commission/ ®IGRI 3TN
2. Chattopadhyaya commission/ dgIUTeTd AN
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3. Dr. Yashpal Committee/ SI. IRMATA TfHfd
4. None of the above/ SWRIad # § ®Is gl

Correct Answer :-

« Dr. Yashpal Committee/ SI. IR AHAfd

43) According to Erikson the most important crisis faced by adolescents is:/

TREHEA F AR, FHRIRT & JTHA M e 9 Hgayul Idhe &
1. Identity confusion/ Ugdld YH

2. Physical growth/ Wq@

3. Parent adolescent relationship/ fHRIR &1 ATGI-Udr ¥ T~

4. Peer pressure/ it T eff o1 qara

Correct Answer :-

» Identity confusion/ Ugdld YH

44) The full form of DIR is:/ DIR &I RT 9TH &:

1. Domestic Intensive Report/ Safes 3ef~yg Rare (ﬂiﬂw ﬁcﬁé)
2. Domestic Inner report/ SAREH R RUIC (R 3fidiRa RUIC)

3. Domestic Incident Report/SHAREH FTac RO (B e Raie)
4. None of the above/ IWidd & J ®I5 Aol

Correct Answer :-

« Domestic Incident Report/SHRe® SiTec RUIE (R TeT RUIC)

45) The difference between the compound interest and simple interest on a
certain sum for 2 years at the rate of 10% per annum is Rs.200. Find the

principal (in Rs.)./ 10% arfi& sarel & X ¥ &) auf A TP Jaua W Tehgfe e 3R
TTYRUT TS BT 3R TUY 200 31 gau (T #) J1d S|

1. 16,000
2. 25,000
3. 18,000
4, 20,000

Correct Answer :-

- 20,000
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46) The price that is announced at the beginning of the sowing season is

called:/ 131 S HNA A IRU A R FHa Fr Awon S wdi §ag______ Hgenndl o:
1. Issue price/ ﬁ‘fﬂﬂjﬂ

2. Fair price/ Gﬁlﬁﬁ@

3. Market price/ dINR T

4. Minimum support price/ WW&HH\F\‘I

Correct Answer :-

« Minimum support price/ WW&HH\FH

47) The first Panchayati Raj’ in India was introduced in the year:/ YRd §
TAYYH YATgd! IS B YT 59 a9 §5:

1. 1957
2. 1958
3. 1959

4. 1960

Correct Answer :-
« 1959

48) By selling 8 pencils, a shopkeeper gains the selling price of 1 pencil. The
gain percentage is: /8 U@ 391 W T® gHTgR & 1 UFIa & faspa Teg & sRTaR &1
T BT 81 a1Y &1 ufaed 8-

1. 9.09%
2.11.11%
3.14.28%

4.16.67%

Correct Answer :-

e 14.28%

49) Majdoor manzil is the concept started in the:/ Wﬁﬁﬁ&ﬂwaﬁ
Y oiTa e o g8 ot

1. Sevagram experiment/ T wanT
2. Nilokheri experiment/ :ilélﬁél TR
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3. Marthandam Experiment/ Tuf<y waT
4. Gurgaon experiment/ TSTd YN

Correct Answer :-

« Nilokheri experiment/ ;ilélﬁél TN

50) Count the number of triangles in the following figure./ =4 3gfa & Ay
B T=IT J1d Y |

1.8
2. 10

3.12

4. None of thesestFef q aﬁ?f:l_(ﬁ
Correct Answer :-

. None of these/3TH ¥ &Is gl

51) In SGSY, the ratio of funding by the centre and states was:/ SGSY AdHgd

T4l GIRT GBS BT SIUTd UT:
1. 25:75
2.50:50
3.75:25
4. 80:20

Correct Answer :-

e 75:25

52) Slides are prepared in:/ ¥I5S s'aﬁ R F} Srar %
1. MS-Word/ THUE-38

2. MS-Excel/THUYH-URI

3. MS—Access/@W—Qﬂ@H

4, MS-PowerPoint/ THUH-UTR WEc
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Correct Answer :-

« MS-PowerPoint/ THU-UIGR Wigc

53) Which one of the following options is/are not true? / o & ¥ o1 e

LK

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ fe=q STRINGR 3MfATH, 1956 dfedl ol U Tgad fgg uRarR 4
Had SifaHT BT SHAGR AT Tehall §

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / Ir%-q\drieliﬁcm{ RIKET &rmﬁm, 1956 & gRI dfeal
D1 3T HTSTT & 1Y [aRd BT ABR Yo fobar T

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 will however won't be applicable for the Amendment / 2015 A

o B 3 g8 Sarar &1 5 sfeat & forar &1 g RawR 9, 2015 % Yd g3 €, 98 39 I=MeH
SR UeH fobd U 3R & waied et §

4. None of these / G’@Tﬁﬁg:ﬁﬂ

Correct Answer :-

« None of these / G’Clﬁﬁﬁﬁ'sc:ﬁﬂ

54) Which one of the following diagram represent the relationship between
Rhombus, Quadrilaterals and Polygons?/ o d Qo= @ W arrqsﬁr, magﬂj\—:r,
TgY 3R TgYS & T T~ Bl gt 82

L

4, ——m

55) What is a teratogen?/ faR=usi (R1IeH) T 82

1. A measure of prenatal activity/ T¥d-qd TIffaf &t v A
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2. A physical deformity caused by harmful substances transmitted through the placentas/ T & AT

TR §T BTHHRS UGN & HRUT S g8 DIs ARING fApid
3. A layer of the embryo/ ‘{Wﬁ@qﬁ

4. Any agent which can cause a birth deficit or have negative effects on behavioral or cognitive outcomes./ Tﬁé
Tole S Pls TN Iy Idd B Gl § A1 deR YT T Jatdt IR IR ToRIeTS THE SId gabdl
gl

Correct Answer :-

» Any agent which can cause a birth deficit or have negative effects on behavioral or cognitive outcomes./
B3 Tole Sl Hig SO QY ITF HR Thdl ¢ I SaER YT UM Taeh uRuml R FeRIcHS UHTE ST
&g

Topic:- Grad_Managerial Skill

1) When encoding the message, which of the following may be overlooked?/ TR HT HIs
(TADIET) FA TG 71 | B -ToR 3T g1 TPl 2

1. Language/ HNIT
2. Symbol/ Udldb
3. Sign/ Tohd

4. Table/dTicihT

Correct Answer :-

o Table/dlcIopT

2) Which of the following theories subscribes to the view that a shared culture is necessary if a

society is to run smoothly?/ 379 ¥ HIH-11 g 39 faaR &1 gudq o7 @ & 9 & gare &
Y 9aH & e A5 IPpia ST avaS 82

1. Marx/ TRt
2. Mead/ §1s
3. Weber/ d&R

4. Durkheim/ g&H

Correct Answer :-

« Durkheim/ g&H

3) Which of the following is the element of difference between community and society?/ E:I'a' 3|
DI TGN R TUS & T F 3R HT UCH 2?2

1. Definite locality/ F=ard ®Hady/=id
2. A group of persons/ eIl &1 g

3. Likeness of interest/ Tl & THFT
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4, Sentiment of oneness/Ud %'Cb‘l'sc sﬁ CARYIGEI

Correct Answer :-

« Definite locality/ F<ad RIHI/=IA

4) The concept of “role” in sociology refers to 1/ HHTSIRIE | 'l;[hii?T P SURT BT 34
P 32

1. Position aspect of the individual/ Hfad &1 W[@ﬁ IR Ugq
2. Static aspect of the individual/ fed o1 Wfds Usq

3. Behavioral component of status/ %ﬁlﬂﬁ D[ HdER T e h

4. Normative aspect of behavior/addgR &I AH®T Us

Correct Answer :-

« Behavioral component of status/ 8RIId ®T TIER Jra+ gk

5) Sociology is the study of:/ THISIRITA _______ T 34T ¢l
1. Socio-political institutions/ TR - TSt

2. Political system/ JSTAfad o

3. Human behavior/ HIHd HdgR

4. Society/dHTS

Correct Answer :-

 Society/dHTS

6) Michigan Leadership studies are based on the following approach to the study of leadership:/

fARFH Ag@ rergE, A9 & g F {5 vgfa W smuria 82
1. Trait Approach/ T&0T TGfd

2. Attitude approach/ aar ugfa

3. Behavior approach/ SIa8R TG

4. Situational approach/gRUfIS—g TGl

Correct Answer :-

« Behavior approach/ @8R UGl

7) Social insurance includes:/ JMToE AT # e @
1. Pension/ BRI
2. Unemployement/ SRIGHTRT
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3. Disability allawances/ 3{Rladdl i)
4. All of the above/Sudad Tt

Correct Answer :-

o All of the above/thgTﬁ gt

8) CANCELLED

Which of the following is not a stage of the communication process?/ 378 ¥ 19 YR Ufshar &1

T I 7 32

1. Feedback/ BI8ea (FFARM)

2. Encoding / IS (TADITST)

3. Channel selection/ AR (ITd) Ta

4. Recipient/EITE-lW]c

Correct Answer :-

. Recipient/trrl?ﬁb_clf

9) CANCELLED

The term sociology is coined in the year?/ JHTSIRIRA & 30l g WRMAATON B af - R |
TT UT:

1. 1798
2. 1829
3. 1839

4. 1818

Correct Answer :-

e 1839

10) Sociology is a science because it:/ THISRIRG UF A e AP ag_____

1. Uses systematic methods/ Saafd fafdal &1 IuTNT el &

2. Is a social change/ Te TSI URadH &

3. Considers finding tentative until verified/ FF ST I T8 T SARIH AT § 9 TP 3IHT YA 7 gl ST
4. All of the above/Iudad It

Correct Answer :-

« Al of the above/3udad T+
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11) Which of the following is not a perspective of communication?/ 378 ¥ ®I19 YR $T TH
af¥gied 8l 82

1. Critical/ shifdes

2. Modern/ Mﬂﬁiﬁ

3. Post-modern/ WWW
4, Democratic/EITrﬂ?lTW

Correct Answer :-

« Democratic/USTdiA®

12) Language is important to society because:/ JHIS & ﬁl‘Q HIHT ﬂ?ﬁ'{lﬁ % i

1. It makes social contact easy/ I8 AHISTH T SH T §

2. It raised man from a savage to a noble being/ nﬁ&:{aﬁ Y WQWWWWW%

3. It is an invention of society/ T8 THTST &1 U 3MAHR §

4. It easily satisfied man’s need of expression /48 A & 3ifNcafaT BT SMALIBT HI TR ¥ ¥ B! §

Correct Answer :-

« It makes social contact easy/ I8 MG THH I S &

13) ICT is an acronym for:/ ICT T Q3T °TH f
1. Information Communication Technology/ ShTHRH HRIF®GR Caarel (T TR Ui
2. Information for Communicating Technology/ 3HIHRM TR HRIFGBICT Sl (SR Wit 8 @)

3. Information and Communication for Technologists/ STHIHRH U8 HRIADGI HR AR (TN iaal
EEESRIEREN)
4. Informants of Communication Technology/3 ey 3T HRIAHI Saiaron (TR W) & FE-rerdT)

Correct Answer :-

« Information Communication Technology/ 3-hTHRM HHIFBRH CaIaTo (T TR et

14) Welfare programmes based on social policy in India are not provided in one of the sector
mentioned below:/ YRd # AMIfoE ifd W snura searor srdeww 9 gare Te d | v 87 § ueH
T 52 o1a &1 98 F9-91 &7 82

1. Health/ XY
2. Entertainment/ AR
3. Employment/ ISR

4. Education/ frefm

Correct Answer :-
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« Entertainment/ ARG

15) Total quality managementis a oriented function:/ $ < UTAHT UdYq T \?rl‘f\‘l-l'ﬂﬁ
capi %:

1. People/ qm

2. Quality/ Tord<T

3. Production/ 3dig

4. None of these/3TH ¥ ®Is -Tol

Correct Answer :-

« People/ anT

16) Which of the following is not an example of verbal communication?/ ?FI'I?[ Ear e/
IS TIR FT TH IS0 a1 32

1. Telephone / THIBH
2. Words/ Xeq
3. Writing/ &G

4, Interview/d&Tch R

Correct Answer :-

« Writing/ TG4

17) The relationship in a secondary group is?/ EGICED qqyg H g BT ﬁ?IT %?
1. Personal/ faaiTd

2. Intimate/ 3=

3. Formal/ NT=Re

4, Informal/&lﬂsrqﬁlTW

Correct Answer :-

e Formal/ e

18) What pair of making team decisions?/ 3w fAvfg a9 &1 - GﬁST?
1. Lack of response & unanimity/ 33T 3R A &1 SHHTT

2. Lack of response & minority rule/ 3f3HaT 3R SeUReAd g &1 31H1g

3. All votes are equal & recruitment/ T4 Ad THH & Td il

4. Feedback & unanimity/9fagfy Td Adea
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Correct Answer :-

« Lack of response & unanimity/ 3T 3R HAERT HT U

19) Which one of the following is NOT a principle of social group work?/ s-—n?r J S IS

W P BT T Rigr 181 82

1. Confidentiality/ Ta=adT

2. Guided group interactions/ B RITARI qHe J=fhang

3. Progressive programme development/ i SrdeH e

4. Evaluation of the progress made by the group/dHg &RI P T TETI H@W

Correct Answer :-

« Confidentiality/ THO-TadT

20) The most common indicator of social class is:/ IS T BT AT 3TH Jhdad %:
1. Race/ STt

2. Occupation/ Fqd™T

3. Education/ fRrem

4. Skills/®PTTd

Correct Answer :-

e Occupation/ Iadg

21) Social protection does not include:/ |G GR&M A =nfla =gt &:
1. Food subsidies/ @Tel 3Mies TgTadg

2. Public works projects/ @& fAaToT gRaerHTg

3. Supplementary feeding/ IUR® 3TGR

4, Alms/ald

Correct Answer :-

e Alms/aH

22) CANCELLED
Effective speaking is depends on:/ YT HTOT R AR F=ar %:
1. Context of the oral communication / PP IR & g

2. Prior adoption of delivery style / W&t 9% & tlﬁ PRI
3. Absence of feedback/ UfAqf® @t srufRufd
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4. Identification of key points to put across / LSIEERSCATIE G | s ﬁi\’rﬁ DI UgdH

Correct Answer :-

« Absence of feedback/ Ufdgf¥ &1 SrufRfd

23) The Central Social Welfare Board was established in the year:/ F=g qUIS Hearur NS Bt
TG Y o ot it

1. 1980
2.1970
3. 1950

4. 1953

Correct Answer :-

e 1953

24) Social services will not include:/ IMTo® Farsi & =mfire =&Y gRm:
1. Care for vulnerable groups / 3{RI&d HT@WW&I‘UT

2. Care for weaker section/ 3(U&THT HHAR qdDb BT UE

3. Care for affluent/ Y-TaTI T TREUT

4. Care for needy/STERAHG! BT TREUT

Correct Answer :-

« Care for affluent/ &aM! &1 TLEIOT

25) “A social group is a system of social interaction,” Who defined so?/ “\MHIf® |, ATHINS
SAfsHaT BT TH YOSl g7 gg URHINT ____ gIRT &t Tt o

1. H. M. Johnson/ Td. TH. SIig
2. Marshal Jones/ IR S

3. Bogardus/ SFTISY

4, Simmel/ﬁrﬁﬁ’

Correct Answer :-

« H. M. Johnson/ Td. TH. -9

26) The performance norm defines the level of :/ ye=iq uFe & R P uRuiia
Il B

1. Work Effort & Attitude/®TI T Td I3
2. Attitude & Contribution Performance/ Y 3R TNTeH WerA
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3. Constructive Criticism/ YdTHD AT

4. Contribution Performance & Work Effort/aNTeH U= 3R &1l v

Correct Answer :-

« Contribution Performance & Work Effort/agH TS 3R & Targ

27) Sociologist describe the term ‘Group’ as:/ JHSIRIN] ‘g’ Xeq HI ¥ = ¥ affq
A %

1. Collection of people/ ATl & THad

2. People involved in organized pattern of / 3dfehar & Trfdd Ued § Joy Al
3. People interacting at a place/ e wm WR srafdhar o= 3@ At

4. Participation in a gathering /f&dl T/ H HFT o

Correct Answer :-

« People involved in organized pattern of / 3{=fdhaT & TIdd Ue § Taw ait

28) Field work in social group work helps to acquire:/ TrHIfoTs qage a0 A &7 ib‘r!f, 3ifofa
F | TGN Bl &

1. Knowledge/ I

2. Skill/ PI=Tet

3. Attitude/ YT

4, All of the above/B'CIé?ﬂ Tt

Correct Answer :-

« All of the above/3udad Tt

29) Horizontal system of communication takes place between or among:/ ¥ o 9aR

1 gt yomedt Harfer g 3:

1. Equal/ §HH A

2. Superiors and subordinates/ aRky SfIRGT 3R et
3. Subordinates alone/ Fad refiTef

4. Superiors alone/ FHad IRy el

Correct Answer :-

» Equal/ JHE @

30) What is not one of the four important Manager roles?/ 379 I &I, UI=I$ B TR AUl
YfrepTait ¥ A T TE 82
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1. Supervisor/ THa&® (JURATZTR)
2. Facilitator/ goHR& (WRIfICeR)
3. Internal coach/ 3MT<iRa UfRI&H
4. External coach/sTel UfRI&id

Correct Answer :-

« External coach/STel URIe®

31) When culture traits speed from one society to another the process is called?/ Sid T JUTS &
TRATFTE A&7 gOR THTS | dolt o ST § o 39 UfehdT St T HgT oIl 82

1. Assimilation/ TR0/ Td=0T (TRIECRM)
2. Diffusion/ fa&Rol

3. Pluralism/ ${dbare/dgadiG

4. Evalution/qcdich1

Correct Answer :-

« Assimilation/ 3TETHTAEH 0T/ BT (TRIFATIRM)

32) The book “The Sociological Imagination” is written by:/ “& SiRRMdEd sARARMA” TS
qs$ 3 forgdt &

1. Parsons/ ORI

2. Brewer/ §3RR

3. Elliot/ Tferie

4. Wright Mills/13¢ ey

Correct Answer :-

« Wright Mills/3Tg¢ fored

33) Social rights will not include:/ ImHIfor® SfYpRI A =mfde 181 gl :
1. Child/ &=

2. Labour/ 4f8d/TsgR

3. Women's rights/ Afgaaf & S®R

4. Care for political section/JST-ifdd dad BT TR&TT

Correct Answer :-

« Care for political section/ITSfdd dad BT TRETT
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Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./f32r: fRaferfad e
B AFYAP TgH IqP A &0 T ggfamedt uzHi | w6t fawey &1 99 $|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥e W fIwRUT 950 IR 81 e TIHT & % & It wgm 7iial, el 3R e’} # Suasy 31 fasiw
THRERR, T[T B 31 Feee ASTRI B Heg | Fe-ie A famRur forar o 9aar 81 3ra-Suaiaarsi &t
$exHIE Tl ¢ T WS Bl FexAe Hal Yerdl (ISP) Fed & | GaT, ST B Awadr &1 Hoit gl giar
WR A GIATE THT B3 & T Sexie &1 van foar o awar g1 & ga-ng g, Rifeen, g,
AIFEdUR, FIEY, AR, Ao, e, uﬁﬁwmﬁwﬁﬁmﬁﬁwﬁaﬁm%l?ﬁﬂﬁﬁm
@Wm%sﬁwﬂawwmﬁaﬁmwaﬁél g aT & It YHER-1, RS Ud SRAd
$e3c W U B disas SR I9d HiaTsd grudR Menfifeal 9 36 (Ft didh) oiv 46 (A idh)
3T M | $exAe Aa1 @1 i § Aredty 33 g5 21 3T 9 U1 8 Abs! 8 ghHar R & wureER e awa
§1 getqe A Ol ) HUR $t Haltus JuaS U v @1 g1 §9 g & fodt oft v A §-3a
(AP AT Riey &1 Jfdrafiwon s Twad 81 0 #3 AT Jvedur Iuasy § FFd ee &
WRT Rud-ergw Hexr 49 3R UTe o I &1 g9 bt oft afdr Aiedur &1 Iuaihn w3 oA i ik
TrEfl | 919 R Thd § | AT AR Aedi b Argel W U= R i I J8 ad 81 S Targ
B W 3 37 gradid W $R Thd &1 HIRT AeafdhiT arse gl guRl & a1y fo argn w31 3t giaen o
M 21 39 FH W B F IR 3 et & A1y R Qs # Tod &1 A df 39 QN Aedfh drgel
R RS e ft #5232 T

Which internet browsers discussed in this passage?/ 39 3¢ A f5d Fe-ic A9 31 Tdf Bt
Tt &2

1. Windows explorer/ e Q?ﬁ@??
2. Google/ T[T

3. Chrome/ P

4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+
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2) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ%‘\’l: fFrafafad e
P AFYES UgHR 39F -1 G T4 sgfamadt u=al § Ot fowew &1 999 31

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

geve W IR 9gd WRd 81 $ee T &R X & Wil W TTal, Sl SR ekl # Sy 71 faSe
THARR, T B 31 Feve ASwRI B Heg | Fee # famrur frar o 9&ar 81 3rI-Suaiaarsi &t
$eIc AT A a1 WS P S WAl YTl (ISP) FEd & | I, Se-ic Bl Awhardl BT Hoit g1 gi-am
WR Y YA THT B & AT e &1 Wi fhar o Jovar 81 3 A e, fafeen, aifgw,
TIFEAUR, FHYEX, AR, WM, firrdr, vdeq vd pradt nfafaftry @ wwafa 8 wwadt 81 @ fafis
@ﬁﬁﬁ%éﬁﬂawwmﬁﬁ@awm%lgﬁm%WWW TRPI¢ Td SRAd
$eIe R IUAH 71 FISaS 3R I HiaTsd gruaR Menfifear o 36 (st didh) ok 46 (At didh)
3T 9 A Fe-e JaT $t fd & Aed i gfs g5 81 39 g6 9 $© Adbs! H gHaT1 R & JUER fBa gad
21 $exe A Wit ) R F Faiftre Aviwe fFer ver o1 {1 g6 g & et s A -aw
(AT AT Ried &1 Ifdrafiwon de Iwd 81 ¥Q +3 AT Jieedur Suas & PFd e &
T RUd-ergw w1 A% 3R UIT o I &1 g0 Bt oft Afdr Aiedur &1 Suahn s oA e ik
TrEfRRl | 919 R Thd § | AT WA Aeai b1 "igel W U= R B I J8 Gdbd 81 S Targ
B W 3 I gradid W $R Ahd &1 IR Aeafdh T ase gl gunl & a1y fo argn w31 3t giaen o
0 21 89 B W BN F IR Srun sl & a1y R Arsn &% Ioa &1 dRT a9 W Aeaf e Agel
W AUNRS dig Wt #3771

The key to success of Internet is the:/ g3 FI Twhadr B Hoil 8:
1. Information/ =T

2. Audience/ GI&HTOT

3. Television/ CeiifdeT

4. Newspaper/JHHR-UH

Correct Answer :-

 Information/ =T

3) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad wei=r
P! ATFYAP TP 9P - fed T4 agfawed] w=al # 9l fawew &1 994 +¥|
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Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥e W fIwRUT 95 IR 81 S U & % & It ugm 7iial, Sl 3R =reR) # Suas 31 fasiw
THERR, T[T B 31 Fee TSTRI B Heg | Fe-ie # famrur forar o 9aar 81 Sra-Suaiaansi &t
$eIc ¥aT A a1 WIS P Sex-Ic WAl STl (ISP) FEd & | JII, Se-ic Bl Awhardl B Hoit g1 gi=an
WR Y YA THT B4 & AT Sexie &1 Wi fovan o Joar 81 3 A e, fafew, aifgw,
TIFEAUR, FIEX, AR, TR, firrdr, wde vd prudt nfafaftry @ wwafRa 8 wwdt 81 @ fafis
@amﬁ%@wﬂawwmﬁaﬁ@mwaﬁ%l a1 & @it FHRR-u, 1@ Td SR
ge¥e R I 31 Hisds 3R I AiaTsd RuaR Mefifear 9 36 (st didh) oiv 46 (@A didh)
3T oM A $exAe AaT &1 i § Ared iy 33 g5 21 3T 896 U1 9 Adbs! 8 ghHar WR & ueR e aed
?1 getHe A Ol B TUR $t Haltue Juas &G e @1 g1 79 g & fodt oft v A §-3a
(AP AT Rey 1 Jfdrcfiwon I @ 81 ¥Q F3 AT Jvedur Iuasy § FFd ee &
WRT Rud-ergw Hexr 49 3R UTe o I o1 g9 Bt oft Afdr Aiedur &1 Iuaht w3 orm i oik
Trafal A 919 HR Thd &1 A WA Aedi e "gel W 3= WA A | 98 96d &1 39% ifarg
B W 3 I gradid W $R Thd &1 IR Aeafdh T arse gl gunl & a1y fr amgn w31 3t giaen o
T 21 39 ZH W B F IR 3 et & A1y e qren # God &1 AT A 39 WA Aedfh drgel
W RS Wi W B2 @ 7

Which information is collected from around the world?/ gﬁ'CIT W Bi-40 A1 ThA CAR | %?
1. Education/ f2rem

2. Medicine/ Rifdra

3. Literature/ e

4. All of the above/Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

4) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ%'!H: frafefea =
P! ATTEP UgHT 9P - fed T agfawed] u=al | ugl fawen &1 99+ +¢|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
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end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

geve W IR 9gd WRa 81 $ee T &R X & Wl W Tal, Sl SR ekl # Sy 71 faew
THERR, T B 31 Feve ASTRI B Heg | Fe-ie H famRur forar o 9ear 81 rI-Sudiaarsi &t
g AaT A aTd WS P Se3-Ic WAl YTl (ISP) FEd 8| I, Se-ic Bl Awherdl B Hoit g1 gi-ar
WR Y YA THT B4 & AT e &1 Wi fhar o goar 81 3 A e, fafewn, aifgw,
TIFEdUR, FIEX, AR, Ao, e, W@mﬁmﬁwﬁaﬁm%lmﬁﬁm
@ﬁgﬁﬁ%gﬁwﬂﬁrwwm&ﬁaﬁ@amm%lgﬁm%WWW IS¢ Ud RAd
$ee W IUAH 71 FISaS 3R I Hiasd RuaR Menfifear o9 36 (st didh) ok 46 (adt didh)
3T 9 &V Fe-e JaT $t fd & Aed 1 g g5 81 39 g6 9 $© Adbs! § gHaT R & JUER fBa gad
&1 $eve A Wit ) TR 9 Taifte Aue QA yem 9 81 59 g & Bl M s A €-aa
(AT AT ey &1 Ifdrafiwon s @ 81 0 +3 AT Jivedur Suasy § FFd §ee &
T RUd-ergw w1 4% 3R UTT o I &1 g0 Bt oft Afdr Aitedur &1 Suaht s orm e ik
TrEfRRT | 919 R Thd § | AT WA Aedip Argel W U= W B I I8 dd 81 37 iTarg
B W 3 I gradid W FR Thd g1 IR AedfdhiT arse gl guRl & a1y fr amgn w1 3t giaen o
0 21 3 B W B F IR v sl & a1y R ArEn &% g@a &1 @R dt 39 W Aeafe Agel
W ARG wte ft #7 3 B

What is the full form of 3G?/ 3G HT T -ITH T 82
1. Three generation/ ¥ SFREM (i digh)

2. Third generation/ 48 ST (IRt T

3. Third group/ 43 U (FRT TE)

4. Three group/dt U (7 Ig)

Correct Answer :-

« Third generation/ ¥S SFRTA (a3 didh)

5) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAaferfad e
P! ATYAP TP 9P - fed T4 agfawed] w=al # udl fawew &1 994 +¥|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
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entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g3 W AR 95 WA 21 S W &R o & Tt v T, e ok wesl # Suasy B1 fieiw
TR, T HIH 31 Feve AISwRI B Heg | Fe-ie A famRur frar o 9&ar 81 =I-Sudiaarsi &t
$eIc a1 A a1 WS P S AaT USIaT (ISP) FEd & | I, Se-ic Bl Awherdl B Hoit g1 gi-ar
WR A YT THT B & A et &1 Wi fovan o aoar 81 3 A e, fafen, afgw,
TIFEAUR, FHYEX, AR, WM, firrdr, vdeq vd pradt nfafaftry @ awaffa 8 wedt 81 @ fafts
@G{m%sﬁnﬂawwmﬁaﬂ@aaﬂmélgﬁm%vrmww IA®TY Td SRAA
3o W U F1 disds R I9d HiaTsd RudR Menfifeal 9 36 (st dih) 8w 46 (AR Widh)
3T 9M A FewHie JaT Ft 1fd & Aed i gfS g3 81 3T g6 9 $© Adbs! H gHaT R & gUER fHa gwd
Tl gt A Wit B TUR $t walfie Juas @ ver o1 31 g g & it s A §-3a
(FAFIP AT ey &1 Ifdrafiwon Je @ &1 09 +3 AT Joedur Suas § PFA e &
Tfve Rad-ergw Hexr Wt 3R UTe o wad 81 89 =it oft e Aivedar &1 Suait e v st 8ik
TrEfRRl | 919 R Thd § 1 AT WA Aedi s "igel W U= WA A I J8 aod 81 37 iargd
T W I aradia Wt FY Fod &1 HIRe Aedih urge g6 gkl & a1y R aren A 3t gfaer oft
N ?1 U TH W A F IR 3un Rrgel & A1y R Argn w1 wwa &1 @R A 37 W Aeafh argel

W AURS g Wt 73 @ T
There are many that can be used to send and receive real-time messages over the
internet:/ T3 &3 Iuasy § oM Sexde & AT fRga-ersy Wa=r Ut 3R UTe o 9@ d &

1. Chatting software/ T AleaTR

2. Grouping software/ ‘gﬁﬂ HloedaR

3. Internet software/ 32@? TR

4. None of the above/B’CIﬁTﬁ 7Y aﬂs‘ T8l

Correct Answer :-

« Chatting software/ 3fTT TlgedTR

6) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
DI ATYED YgHY 39D - f¢d T agfawed! w=Al | Tal fawed &1 a9+ B

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
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are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

gee W fIwRUT 95 IR 81 e U & 3% & It g Tial, Hal ok ekl # Suas 31 faSiw
THRERR, T B A Sexe ATSTRI Dt Heg A Fe-ic § faavur fohaT off Jobar 81 d-Sudiadiaii &t
$eXAC JAT &7 AT WIS B eI AaT USHaT (ISP) FEd @ | A, e+ &1 Ihadl $1 Hoit g1 giar
WR Y YT THT B & AT Sexie &1 Wi fovan o Joar 21 3 A e, fafew, aifgw,
TeAUR, HIEX, ATIR, Ao, fEar, wes vd prud nfafaftr @ wafRa gt wwdt 31 & fafie
@Wgﬁq‘r%zﬁwﬁﬂwwmﬁaﬁ@wmm%l g & @it SHER-u, e Td SR
ge¥e R I 21 Hisds 3R I HiaTsd RUgR Mefifear 9 36 (st didh) oiv 46 (@At didh)
3T M A $exAe a1 o1 1 § Ared iy 33 g5 21 9F 39 U1 $° Sabs! 8 ghHaT WR & wuER e awa
Tl gt A It B TUR F waifte Juras @ ver @1 31 g g & i M e A §-3a
(FAFRP AT Rivey 1 Jfdrcfiwon I T@d §1 00 #3 AT Avedur Suasy § FFd e e &
WY Rud-ergw Hexr 49 3R UT o I &1 g9 bt oft Afdr Aiedur &1 Iuain w3 o= i 8ik
Trafra) A 919 HR Thd 8 1 A WA Aeaf S "gel W v WA A A 98 g@d &1 3% ifarg
B W 3 39 gradid W $R Thd | HIRTA AeafdhT arse g8 gunl & a1y for |mgn w37 3t giawn o
T 21 U P W BN F IR 3= el & A1y R Qs # TFd &1 AT df 39 QA Aedih T drgel
R S e +ft 2 33 T

How can the people connect with old friends?/ @I E?ﬁ e @ H s THhd 8?2
1. Social networking sites/ I Aeafpi ?ﬂ%ﬁ I

2. Social teaching site/ Trrd AT Hléa T

3. Social learning site/ Jr=re T Fﬂ%‘@[ J

4, All of the above/ C{q?i'cﬁ it

Correct Answer :-

« Social networking sites/ TIRIA Hedfdh T TZel o

7) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi’QT: frrafafad e
P AFYES UgH 39& -1 33 10 sgfamadt u=al § Odt fowew &1 999 331

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
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discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UG-G B1 GE0T 9049 & faspR & a1y frar I 7g iR Suahil SugR 81 JHaR-
T fed Y I & | SR TGl 31 I8 S g Bl geTe & IR A giia vadr 81 98 59 Bl
3P 31 Ug U AfRI=ITel SRR Aeaw 3R U WfRITel 96 1 98 Tod BT WP 3R WA USRI
Td Wl 1 U8 ¥ 39 S B1d & T ot waivT farar o W @ iR g o & forg it g famry &1
P 8| 98 faar), Rrgr, 39 W 31 Tft fewforat & Barar 8, WeRI, @ ik 9! nfafafRay
TUTARAT HIT 31 g SHd $T TP fRITE 3aUd g1 I8! R ¢ fF ag oiar & Wadr 8| HER-
T R e Sita &1 AT ST 991 g% §1 TUAR-TT g gAR W SR fdmi F aR A it ek &
TUTER a1 8 | GHTER-UH $T UTe® JTdei-1e ATHA & TUd H Igal 8 | HER-US Ji9 &1 o3 rarsi o
I AT Far € 3R S/ T IR FEAE Yo HT 8 | THER-UF U | 79 &1 e gia1 31 399 86
it Tft Wit SR SfIshRY & A W oI Udhd &1 T8 89 TAR SIUPRI 3R P! JRET H H-1 @
39 IR | W TaraT 81 399 79 W 33-9% Wt 9 wwa € 7% g o wn g w1 31 weeR-uA a6
g & @ft fafis i1 @ awgd | wadr g1 aur st axget @t fawt gem & e saeR-w o
fammo 34 €1 9 TeER-wE # e o Rl gkl 8, s it oY Rt el § avget & ge
THHHH TEA § Weg e 8 1| sueR-u uiftfe faua, e, sarsi vd i & R § R 9 guame 3@
8 R Y F1 3mare Wt RpiS Fear 81 FHER-UF &1 Fafia ures rdwfe el & 9R § e 9RT 94
JfSfa B FHal 8 1| TIER-UF W faar®! 3R gRifF®! & faar g9 a@ ad §1 3 S79d &1 ATHR 3d §
3R 39 ufafafa s3a 21

What was invented with the help of printing machine?/ Ul =i &) gerer ¥ feaeT snfaserR
forar T ur?

1. Radio/ 3f&dt

2. Television/ ealifavd

3. Newspaper/ JHRIR-UF

4. All of the above/Suad It

Correct Answer :-

» Newspaper/ HMR-UA

8) DIRECTIONS: Read the passage and answer the questions that follow./fé=r: fAaferfad wei=r
P! ATYEP UgHT 9P - fed T4 agfawed] w=al # ugl fawey &1 99+ +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
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information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UTHA-S1fd B GEo1 9049 & nfaspR & a1y frar aa 7g iR Suahfl SuekR 31 WHER-
3 aafet Y It & A SR T@dT 31 98 S99 g 1 geTe & R A gRia vadr 81 98 599 Fel
e 81 98 UH AfFa=Imell SH¥aR A1ead 3R U ATRIRITeN 9 81 98 9 BT WP 3N AFATRIBRI
Tq TWa-adl &1 Uest 81 39 o did & g off wah faran < weran @ SR ¥ ol & forw oft) o famri 1
e g1 Ug far, Rigrl, 391 W 3t i} fewfrat &1 Hramar 8, TWaRY, @l iR 391 nfafaftry
THTEIHT Bl 8| T A BT TP Rl 3aad g1 & RO § % 98 Sa1 31 Wadr g1 JHER-
U3 §UR ¢ SitaeT &7 Sifid 3T 991 g &1 THAR-UF g9 gUR W 3R fgxi F IR Al R &
TUTEAR T 3| THER-TA] &1 UTe® Arauie Jidl & Hus 8 gl 8 | THER-UF F19 &1 &3 arsit
3 Rfera wvar 8 ok 39 R IR FIAE UM HXdT 8 | GHER-UF UeA & I &1 fasT gidr 31 599 g9
Tt T} Gt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRY 3R ITHT GRam FA Ft §
U6 IR | W IaTaT 81 399 79 W 35-9¢ Wt oI wand ¢ % gt | w1 g ¥e1 31 HHeR-uA ann &Y
g & @t fafis it @ awd & waar g1 aur st axgatt @t fast gem & g saeR-w o
faqm= 33 81 9f% THER-uA A IR @1 Ruid 10 §, $99 sl o fafte el § axgei & ge
THIAM WA H Heg e 81 TeR-ux aifife faud, @), wansi vd Wia & ar # 3R IR gEAn 3
& 3R Wy Tt armare +ft RPIS Tl 31 FHAR-UA F1 Fafi urew Adei-e ard & R § ¥ 9R1 91
Sifofa X Tar | THRR-UF 7 fAaR®! iR qRife! & faar 50 a@ @ §1 3 S ud & PR a8
3R I wfafafraa #a €1

What is newspaper said to be?/ HHRIR-UA Cako)| Dol SIrdl ??
1. A powerful media/ Teb QIfaa=ITel H1eqH

2. A useless media/ U SIUART H1eH
3. A boring media/ T =R¥ HITH
4. All of the above/ Iuad Tt

Correct Answer :-

« A powerful media/ U Qfa=ITc A1eqd

9) DIRECTIONS: Read the passage and answer the questions that follow./fé=r: fAaferfad wei=r
P ATYEP UgHT 3UP - fed T agfawed! u=al | ugl fawey &1 994 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
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information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UTHA-S1fd B GEo1 9049 & nfaspR & a1y frar aa 7g iR Suahfl SuekR 31 WHER-
3 afed Y It & | SR T@dT 31 98 S99 g Bl geArel & IR A gRia vadr 81 98 59 Fel
SfRUF 31 U U A= TR AT 3R TP ARl 96 31 98 Td BT INYP 3R AHANUBRI
TG Wl BT Uest 81 39 o drd & g off wah faran < weran @ ok ¥ 1l & forw oft) o faml 1
e g1 Ug far, Rigrl, 39 W 3t i} fewforat &1 Hramar 8, TWaRY, @l iR 391 nfafaftry #
THTEIHT Bl 8| T A BT TP Rl 3aad g1 & RO § % 98 Sa1 31 Wadr g1 JHER-
U3 gUR ¢ SitaeT &7 Sifid 3T 991 g &1 THAR-UF g6 gUR W 3R fi F IR A R &
TUTEAR T 3| THER-TA] &1 UTe® Traui-e Jidl & Hus 8 gl 8 | THER-UF F19 &1 &3 arsit
32 Rifera wvar 8 ok 39 R IR FIAE UM HXdT 8 | FHER-UF UeA & I &1 fIeT giar 31 599 g9
Tt T} Gt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRI 3R ITHT G FA Ft §
U6 IR | W IaraT 81 399 79 W 33-9¢ Wt oI wand ¢ % gt | w1 g ¥eT 31 HHeR-uA ann &Y
g & it fafie i 3 Wk | vaar 81 ARt st axge 3t fawt sem & o saemR-w |
fagm= 33 81 9f% THER-uA A IR @1 RUid 10§, $99 sl o fafte el § axgei & qe
THIAM WA H Heg e 81 TeR-u aifife faud, @), wansi vd wia & ar # R IR gEAne 3
& 3R Wy 3t 3T +ft RPIS Tl 31 FHAR-UA F1 Fafi urew Adsii-ie aral & R § & 9R1 91
Sifofa X Twar | THRR-F 7 AR 3R qRife! & fauar 50 a@ @ §1 3 S ud & PR ¢a &
3R I wfafafraa #a €1

Newspaper is avehicleof  :/HHRR-UA___ DHIdlgdh ?:
1. Picture/ =R

2. Thought/ fd=R

3. Money/ 44

4. All of the above/Suad It

Correct Answer :-

« Thought/ fdaR

10) DIRECTIONS: Read the passage and answer the questions that follow./fadsr: fRafefad
TR $ ATTYAP UgHY 3UP - e T4 agfaswed! w=al # 98l fawey &1 a4 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
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information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UTHA-S1fd 61 GEu1 9049 & snfaspR & a1y frar 9a 7g ik Suahfl SuskR 31 JHER-
T afed Y It & A SR T@dT 31 98 S99 gt 1 gerel & IR A gRia vadr 81 98 599 Fel
SfUF 31 U UH A= TR AT 3R TP ATl 96 81 98 Td BT INYP 3R AHANUBRI
TG Wl &1 Uest 81 39 o did & g off v faran < weran @ SR ¥ o1l & forw oft) as famri &1
e g1 Ug far, Rigrl, 39 W 3t i} fewforat &1 Hramar 8, TWaRY, @bl iR 391 nfafaftry #
UG Bl 8| T A BT TP RIS 3aad g1 & RO ¢ % g8 Sa1 31 WaddT 81 JHER-
U3 §UR ¢ SitaeT &7 Sifid 3T 991 g &1 THMR-U7 9 gUR W 3R fxi d IR Al R &
TUTAR T 3| GHER-TA] &1 UTe® Traui-e Jidl & Hus 8 gl 8 | HER-UF F19 &1 &3 arsit
3 Rfera wvar 8 ok 39 R IR FIAE UM HIdT 8 | FHER-UF U & I &1 fasT giar 31 59 g9
Tt T} Gt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRI 3R ITHT G FA Ft §
U6 IR | W Tara1 81 399 79 W 33-9¢ Wt 9 wand ¢ % gt | w1 g ¥e1 31 HHeR-uA ann &Y
gt & Wit fafie i 3 Tk | vaar 81 AR ot axge 3t fawt sem & o wamemR-wt |
faqm= 33 81 9f% THER-uA A IR @1 RUid 10§, $99 sl o fafte el § axgei & ge
THIAH WA H Heg e 81 TeR-u uifife faud, @, warsi vd Wia & ar # R IR gEAn 3
& 3R Wy 3t 3T +ft RPIS Tl 31 FHAR-UA F1 Fafi urew Adi-re aral & R § & 9R1 91
Sifofa X Thar | THRR-UF 7 AR 3R qRife! & faar 50 a@ @ §1 3 S ud & PR ¢a 8
3R I ufafafraa wa €1

The reader of newspaper remains in touch with : [IATEIR-U3] $1 U6 h & Yub A
TEAr e

1. Peoples affairs/ @RI & A

2. Public affairs/ Grdsi-es HH

3. Parties affairs/ OTf¢dl o Al

4. None of the above/IWRiad | ¥ PIs ol

Correct Answer :-

« Public affairs/ A ATHAT

11) DIRECTIONS: Read the passage and answer the questions that follow./ 321 fFafeafaq
TR Y SAFYdP UgdhR 3P - fad T4 agfawed! u=l # 9l fawey &1 9= B3|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
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newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of nhewspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF UTHA-S1fd 61 Ggor 9049 & nfasp R & a1y frar 9a 7g ik Suahfl SueR 31 WHeER-
U AT Y ITANT & | 0 7@l ¢ | 9§ S g1 &1 geHTe & IR A Giud vEdl 81 9§ 599 Fel
3 81 98 e fFI=Imell SHYEUR A1ead 3R U WAfRIRITeN 9 81 U8 T BT WP 3N AFATRIGRI
UG Wa~dl BT U8 81 39 3 $1d & forw oft wah far o Tavar 8 3R R &1d & forw ot | ag fmmrY &1
e 81 g8 faar), Rigr, 39 W &1 Tt fewfora) & Barar 8, WeRI, @ 3R 3991 nfafaftay #1
TUTAAT BT 3| T§ T9d HT TP TR 3aUd g1 Tgt PRI ¢ {5 a8 oar 1t Wadr 8 | GHER-
T R & Sita &1 ST ST 991 g% &1 THER-UF g9 8AR o 3R faeei » SR A it vvk &
TJHNER 1 8 | GHTER-T3] BT UIe® JTdui—e ATHA! & Jud H 3541 &1 JHRER-UT J19 31 $ rarsi &
3 Rifera Hvar 8 ok 3R &R AR FIAE UeH Hedl 8 | FHER-UF UeA & 719 &1 e giar 31 39 g9
T Tt Tieil SR SMfAPRY & TR W o Thd &1 T8 g0 guI SRBRI 3R ST JRa&m $A &3 @
U6 IR | W Tara1 81 399 79 W 33-9¢ 2t oI wwa € % gt o wn g ve1 31 weeR-u | &Y
g & it fafim S 3 Wk & vaar 81 A st axg e 3t fast em & o waemR-wEt o
fagmo= 33 81 9f% TurER-uE A IR @1 Ruid 910§, s99 sl o faft <Rl d axgei & ge
THIUH T A Heg frad 31 JuremR-ux utfife fawa, we, wansi vd wifta & ar # % 9t geeme &a
& R Y F1 31are Wt RP1S Fear 31 FAR-UF &1 Fafia ures e arel & 9R § e 9RT 94
JFfd H TP 81 THER-TF HeH RS 3R eRife! & fuR 0 @ @d €1 3 5H9d 3 3MPR dd &
3R 39 ufafyfraa s &

What do businessmen advertise on newspaper?/ IR} JHER-UF # {9t fagmu- 34 82
1. Their news/ 30 JHRIRI &1

2. Their views/ 30 foaRy &1

3. Their attitudes/ 30 33T T

4. Their goods/ 3T a¥g3ff &1

Correct Answer :-

« Their goods/ 3Tt a¥g3f &1

12) DIRECTIONS: Read the passage and answer the questions that follow./f32r: fFafefaq
TR Y ATFYdP UgdhR 3P - fad T4 agfawed! u=l # 9l fawew &1 9= B3

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
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newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of nhewspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF UTHA-S1fd 61 Ggor 9049 & nfasp R & a1y frar 9a 7g ik Suahfl SueR 31 WHeER-
T AT Y ITANT & | 0 Gl ¢ | 9§ S g1 &1 geHTe & IR A Giud vEdl 81 9§ 599 Bl
3 81 98 Uw fFa=Imell SHUTUR A1ead 3R U WAfRIRITeNt 9 81 98 T BT WP 3N AFATRIGRI
UG Wa~dl BT U8 81 39 3 $1d & forw oft wah far o Tvar 8 3R R &1f & forw ot | ag fmmrY &1
e 81 g8 Ry, Rigr, 39 W &1 Tt fewfora) & Barar 8, WeRI, @ 3R 391 nfafaftay #1
TUTAAT BT 3| T§ T9d HT TP TR 3aUd g1 Tgt PRI ¢ {5 a8 oar 1t Wadr 8 | GHER-
T R e Sita &1 AT ST 99 9% §1 THER-UF g §UR ¥ 3R fae= & aR A it veR &
TYHRER A1 8 | GHER-T3] &7 UIe® JIduie ATHA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
32 Rifera Hvar g o 39 &R IR FIAE USH ST 8 | FHER-UF UeA & 79 &1 fIeT gidr 31 39 g4
T Tt Tieil SR SMAPRY & TR W o9 Thd &1 T8 g0 gul SRBRI 3R ST JRa&m $A o3 @
U6 IR | W Tara1 81 399 79 W 33-9¢ 2t oI wwa € % gt o wn g ve1 31 eeR-u | &Y
g & it fafie S 3 Wk & vaar 81 AR st axg e 3t faet em ¥ o waemR-wt o
fagmo= 33 81 9f% TurER-uE A IR @1 Ruid @0 §, S99 sl o faftie ekl d axgei & ge
THIUH T&A A Heg e 31 JueR-ux utfife faua, we, wansi vd wifta & IR # % 9t geeme &a
& R Y F1 3mare Wt RP1S Fear 81 FAR-UF &1 Fafia ure s e el & 9R § e 9RT 94
Jffd H TPl 81| THER-TF HeH RS 3R eRife! & fuR 0 @ @d €1 3 5H9d $ 3TPR dd &
3R 39 wfafafa s B

: [ ATER-UT nfife fawal

Newspapers give a lot of information about religious topics and

R__ IR R 9N I I o
1. Sports/ Wddba

2. Arts / 3¢q

3. Music/ Sid

4. All of the above/3udad Tt

Correct Answer :-

o All of the above/thgTﬁ et

Topic:- Grad_Child Care and Education

1) Special teaching methods, special materials for teaching and specially
designed classrooms or playrooms are used to meet the unique needs of an

exception child through:/ ﬁo‘ﬂﬁﬁi\wﬁr&mu&ﬁm faiy fRyeror gl sik fagiy
TR I FEorsa B 715 Famt a1 Ia Hef fpelt s 7= &Y sifgefta smazaewant ¢t w1
& g Iy e wrd @

1. Compulsory Education, 3ifaard fer


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. Special education/ fa=y fRem
3. International Education/ 3faRTSTg fRief
4. None of the above / G@Tﬂﬁ@[?ﬁéqﬁ

Correct Answer :-

« Special education/ fa= f2rem

2) If you stroke the corner of the new-born’s mouth, her head turns towards
the corner you are stroking, she opens her lips, puts out her tongue and tries
to take the objects in her mouth to suck, the baby is exhibiting:/ gfe oMy
qauTd & Hg & 1 # WIS B, df ITPT R IR 3 14T § R 30 K $R 3B &, 98
37H BiS WiadT 8, U1 S J1eR FidraaT € 3R avg & 33 g # & S &7 W T &
a1 o T, Ry 7 welfa wwar :

1. Moro reflex/ AR Ufdad

2. Babinski reflex/ sfep! ufdad
3. Grasping reflex/ T8l Ufaad

4. Rooting reflex/ q@ﬂﬁrqﬁaﬁ

Correct Answer :-

« Rooting reflex/ @@ ufdad

3) Which among the following is a type of Learning disability?/ fad =,
SfETH 1219t &1 TP TR 32

1. Dyslexia/ feqafaaar
2. Dysgraphia/ fegftsar

3. Dyscalculia/ %’Hﬁ@"fﬁm
4. All of the above/ IRlad g+t

Correct Answer :-

« All of the above/ SWRIad Tt

4) The sex of the foetus can be determined by the end of:/ g9 3afy & 91g
YurepT foiT 3T fpar &1 a@ar @

1.2 months/ZIIEﬁer
2.3 months/BII'Eﬂer
3.4 months/4ﬂ%ﬁ
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4.5 months/SII'E?ﬁ

Correct Answer :-

« 3 months/3 Il'éﬁ

5) Which among the following is not a principle through which the Juvenile
Justice Act, the Central / State Government and other agencies are guided
while implementing the Act of care and protection of children?/ T B STHTA
3R TR & ST foparf-aa wd Iwy fe=z =g sifufeam, FaR~a TReR 9 3=

TSR @1 ATferia v aran o & A4 Rigia 76 82

1. Principle of presumption that the child is guilty of committing an offence/ ¥4
qdHT=dT &1 Rigid o S=a1 H1s 3OR1Y H-A &1 i 8

2. Principle of dignity and worth/ TTRAT 3R Q1wrdT &7 Rigid
3. Principle of best interest/ garad fed &1 Rreia
4. Principle of fresh start/ =18 &3Md &1 Rigid

Correct Answer :-

« Principle of presumption that the child is guilty of committing an offence/ 39

ATl &1 Rigid [ S B SIOR1Y = &1 GINl §

6) Which period lasts from fertilization until the time the zygote is firmly
implanted in the wall of the uterus?/ ® Ht rafy fA== | URY gHR T &
U F AR R yehtvifa o 9= 9 Edt @2

1. Period of Ovum/ 3{STY] @iy
2. Period of Embryo/ U1 3{afdf

3. Period of Foetus/ T 3faf¥
4. None of the above/ SWRIad # § ®Is gl

Correct Answer :-
« Period of Ovum/ 37 3fafyy

7) Which among the following Act prohibits the engagement of children in all
occupations and prohibits the engagement of adolescents in hazardous

occupations?/ & @ Fi4 sifuf~raw, v soaamal & o= & fAafe fore s &1
Yy $aT 8 3R WavaTe sagaTal A frRl & Ao e iR &1 Ay wdar 82

1. Juvenile Justice Act/ f&=IR =g iffraw
2. The Child Labour (Prohibition and Regulation) Act/ aTd %1 (Y Td e sifafaay

3. Immoral Traffic Prevention Act/ 3fae AR ARy sifdf=om
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4. Guardians and Wards Act/ I3&® Td Ufaqured sifafaaq

Correct Answer :-

« The Child Labour (Prohibition and Regulation) Act/ aTd % (FvY g fAaam) sifafam

8) Which among the following is a step in the process of socialization?/ fad

q B, GUTSHRUT UiehaT BT TP TR0T 82
1. Learning to play approved social roles/ Hﬂﬁﬁﬂwmﬁlﬂm

2. Learning to behave in socially approved ways/ oS 0 9 &Iﬂﬁﬁﬁaﬂﬁ@fw
DT UG

3. Development of social attitudes/ T e PHI0N B famr™
4. All of the above/ JuRiad Fi

Correct Answer :-

« All of the above/ SWRIad gt

9) Which of following includes the storage of specific information, skills and
strategies that people have acquired through experience?/ g # 9 fead

fafRry e, el iR srd-ifaay &1 vesrRur aftrfid 8, S @b sgya & urenw 1
3rfofa #ed 82

1. Understanding/ JgURIGa/qH@Y
2. Fluid Intelligence/ dRaATRIIE SIRHAT

3. Crystallized intelligence/ foh¥cdidrd ST
4. None of the above/ Wﬁ@[aﬁéﬁﬂfﬁ

Correct Answer :-

« Fluid Intelligence/ TRAATIRIE SIRHAT

10) Which among the following statements emphasizes the need and
significance of preschool education in India?/ fadd e DY, Wﬁﬁg—(’f—
qd e Bt maxgEdr 3R Hewd W 99 &dT 8?2

1. Many mothers being themselves uneducated are not aware about the sound
practices of bringing up children, hence pre-school education helps/ 3 AN W4
3RMErT M P BRI S B U B Iy fARE & e §, 3rdua Woe-ud e 9es 2|

2. The rate of development is so rapid in pre-school years that child can be given

more and more experiences/ Wqﬁaﬁﬁﬁﬁmam?ﬁam%%aﬁaﬁ&w
3Hd feu o1 9 d |
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3. There is tremendous wastage and stagnation in India in a Class I and II which can
be prevented through Nursery school education/ R B w1 3R 2 H srafeies sadfan
3T 3R 30T Bl & o T T a e gRT Ah1 o1 Ybar 3|

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IURlad g

11) The stage of learning in which the individual while performing a task
need not even think about various aspects of the task to be performed as
the task becomes self-regulated and is performed with ease, is known as:/

ST (HE=) &1 98 TT ForaH $Is B1d H- a1d Afad &I fhg 94 ardd s1d & fafay
Tegsil W faar o & ff smazaear T8 gidt wifes w1 a-fFrafia 8 omar 8 i et
¥ fpar wimar &, Fgarda 8

1. Cognitive stage/ SUTHD TR
2. Association stage/ TgANTH® TRUI
3. Automation stage/ ¥ddTd- TR

4. Realistic stage/ gyrfardl =RuT

Correct Answer :-

« Automation stage/ XddIdH TR0

12) Functions common to the race such as creeping, crawling, sitting and

walking are known as:/ m%mmﬁﬁ%m, I P, aﬁTGﬁ?ﬂFFﬂ,
Y Y H O 91 &

1. Ontogenetic functions/ m?ﬂf{
2. Phylogenetic functions/ GlTI?IQT—ﬂHEbTEf
3. Onward genetic functions/ WRTfaRIE SIS BRI
4. Organoleptic functions/ 3feg urgt »rd

Correct Answer :-

« Phylogenetic functions/ STifag<ia &1d

13) The headquarter of UNICEF is situated at:/ g% &1 g@mad fRa &
1. Paris/ Uiy

2. Switzerland / RaeoRds

3. New York/ 3{&%
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4. Munich/ TIf9
Correct Answer :-

« New York/ <gdi&

14) The Right of Children to Free and Compulsory Education Act was enacted
in the year./ 9= & € fr:31ew ok aifvrard fRien &1 s sifuferaw fea o amy fean
Tl

1. 1980
2. 1990
3. 2009

4. 2014

Correct Answer :-

« 2009

15) Sudden perception of relationship between the learner, the goal and the
intervening obstacle is termed as:/ fR1&nf, @87 3R AT HA arelt TwIaC & g
AP Y§Y 1Y, Fgardl g:

1. Imitation/ 3{Jhx0UI
2. Insight/ 3id=f®
3. Intervention/ Wfa'q

4. Instrumentation/ ATHOT

Correct Answer :-

« Insight/ Side®

16) Which psychologist gave emphasis to the role of culture and social
interactions in guiding cognitive development?/ fg aragT e A AurHS
e fdem o wpfa ok arfore siafdharsi &t Yfirer w g« fear 82

1. Piaget/ s

2. Vygotsky/ et
3. Maslow/ A=l

4. Kohlberg/ CANGHU

Correct Answer :-

« Vygotsky/ STewmt
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17) Which among the following period of development is characterized by
developing school readiness skills and most free time is spent playing with

friends?/ 9 & @ 314 faery srafy 3t fafkyar gg 8 f w@a g durt o i g
g ofix arftrepier @relt IHY fr & Iy Wa A did gidn 82

1. Infancy/ BRI
2. Early childhood/ 3Rf¥dh STedTa=l
3. Middle childhood/ A& dlcdTdRT

4. Late childhood/ 3dR dlcdTdRT

Correct Answer :-

« Early childhood/ 3R STyl

18) Nutrition and health education, under the ICDS scheme is provided to:/

& Siaia drwor i TaTa e yer # St @
1. Children in the age group of 3-6years/3-6 a8 3] Tqg & | B!
2. Unemployed youth/ aﬂwwéﬁﬁ
3. Women in the age group of 15-45 years/15-45 I 3T THg &1 A3 I
4. All men/ 94t &I &1

Correct Answer :-

« Women in the age group of 15-45 years/15-45 dY 31 HE ! Afgalsfi &l

19) Which among the following are powerful chemical substances secreted

by the endocrine glands and carried through the body by the bloodstream?/
e @ o9, oia: Trdt 9REY grRT wnfaa wfdasmelt Iramafe uerd @ ot ©RR varg gr

RR # ufae foman siran 32
1. Genes/ S

2. Chromosomes/ T[URTA

3. Hormones/ BTHIA

4. DNA/ SL.TA.T

Correct Answer :-

« Hormones/ Bm‘l’:r

20) Four main areas stated by ‘The Convention on The Rights of the Child’

includes right to:/ 'aTel PR R A Il ar” §=7 &3 A e el mmire &
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o\ o

1. Survival, Development, Protection and Participation/ dmuﬂlddl, [dPhTH, TRET 3R
HEHTHICT

2. Survival, Entertainment, Protection and Care/ SARSHIdT, ARG, TRETT 3R STHTA
3. Survival, Care, Nurturance and Love/ SAReiddT, S@HTd, UTAH-UIN0T 3R UH
4. Survival, Care, Protection and Play/ STRSIadl, S@HTA, T&UT 3R Td

Correct Answer :-

« Survival, Development, Protection and Participation/ STRelIfadl, fasTy, TRefor 3R
HEHTRTT

21) HIV stands for:/ TI3Msdl (HIV) &1 34 &:

1. Human Immunodeficiency Virus/ Wgﬂfﬁ@'ﬁ?&l@ﬂm
2. Human Infectious Virus/ WW@Z@HW

3. Highly Infectious Virus/ HESIERACE RIS

4. High Intensity Virus/ 8T8 §cic! IRRY

Correct Answer :-

« Human Immunodeficiency Virus/ W%@h@mm

22) Which among the following scheme provides scholarships to persons
with disabilities to pursue higher education such as MPhil and PhD?/ faada
P It e, el @) waftra ik divedt St 3= e wra w3 & foe s
W Bl 82

1. Scheme of National Scholarship for Persons with Disabilities/ ﬁr:maaau%u‘r%g
EIESINEIRIERIEE]

2. Comprehensive Education Scheme for Disabled Children/ fA: e Sl g w9 e
BIEE]

3. Rajiv Gandhi Fellowship Scheme/ ITsita el sf&dTgfti arei-T

4. Inclusive Education for the Disabled at Secondary Stage/ WWWWWW%@
BEICRIRRIE]

Correct Answer :-

« Rajiv Gandhi Fellowship Scheme/ ITsfid Tt reddrgfy are

23) The full form of CARE is:/ %33 (CARE) &I [T -ITH &:

1. Cooperative of Always Rendering in Emergencies/ ®13{Tusfca 31t 3ficasl S8R g9
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2. Cooperative for Assistance and Relief Everywhere/ ®I3IRfed Bk Ry U8 Ralw
LEICDN

3. Consulting Agency for Relief Everywhere/ &t Toid! HIR Kol TR

4. Consulting Agency for Recreation to Everyone/ &¥feed] Toid! Bix RIhURM ¢ Tdta—

Correct Answer :-

. Cooperative for Assistance and Relief Everywhere/ ®I3ildRfcd BIR RRCY T8 el

24) Reflexes, Primary, Secondary, Tertiary Circular reactions and Early
representational thoughts are sub stage of which stage of Piaget’s theory:/

wfrad, waftre, fdtas, gdiae geita ufafrang sk smfie ufafafie faar, e &
frgia & forg TRU1 & Iu-|RUT E:

1. Sensorimotor stage/ IAGT/AAEIIRS TR0
2. Preoperational stage/ ijw

3. Concrete operational stage/ ﬂjf{-ifaoQIHdo SRl

4. Formal operational stage/ MU= TfhaTeds TRl

Correct Answer :-

« Sensorimotor stage/ RIRIEL S CIAIRE 2R

25) A congenital midline defect resulting from failure of the bony spinal

column to close completely is known as:/ 3R A=Y & YUId: §¢ g4 A fawear
Y IUH SHSITd AUREY GV, HgardT &

1. Cerebral palsy/ UHRISS 3RTLTd (IS UTRIT)
2. Spina Bifida/ TFR] 1 §gs! § dIc (W11 S1Efhe)
3. Cerebro-Spinal injury/ HRE®-H% Y (AXS-T1S-d) B dIc

4. None of the above/ SRIad & A dv\l'-:fqﬁ

Correct Answer :-

. Spina Bifida/ H¥Rw] &1 ggs! H DI (ST S1Rthal)

26) Muscular dystrophy, Arthritis, Club foot, Cleft palate are examples of:/

ApeR fEwiwl, smikrsfe, mgﬁ,aﬁwﬁﬁ?&nﬁmﬁimﬁ
1. Neurological impairments/ dfetg srgradan

2. Visually impairment/ =¥ Taeh srgaafang

3. Musculo-skeletal conditions/ URIg-& 1o SAHYATY
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4. Hearing and speech impairment/ %0 Td aT& 3RTAATY

Correct Answer :-

« Musculo-skeletal conditions/ U=-HhTeld rgHIATY

27) él‘hree R’s in pre-school education stands for:/ W—Qﬁﬁ[&l‘r & I 3R (R) &1
3qfg:

1. Reading, Writing and Arithmetic / UgHI, foRaT 3R TIfrg
2. Reading, Recitation, Reaction/ Uel, AR AT, ufafear
3. Reading, Racing and Resting/ U&T, G&T, fasma &

4. Reading, Recitation and Recreation/ T, GIEIMI, 3R TS

Correct Answer :-

« Reading, Writing and Arithmetic / TeT, feraer 3iR 7ifdrg

28) Artificial replacement for a missing body part is known as:/ IR & f&dt
SIURRIT 37T BT AT YARIYVT, HETdT &:

1. Prosthesis/ Uiy
2. Orthosis/ 3R

3. Adaptive device/ Wgﬁ[
4. None of these/ sﬂﬁ@f?ﬁgﬁ

Correct Answer :-

« Prosthesis/ Ty

29) Microsystem, Mesosystem, Exosystem, Macrosystem and Chronosystem

are parts of the theory propounded by / GEAYOITS, HeAYTTen, IFgWorTe, ggeuurat
3R 1a yurrelt fpad grT ufaurfed Rigia & T §:

1. Maslow/ HIRAT

2. Vygotsky/ SRSl

3. Bronfenbrenner/ siH®GASR
4. Piaget/ oS

Correct Answer :-

« Bronfenbrenner/ TTBTIR
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30) Which method makes an in-depth analysis of a client:/ ®9 ¥ Ugfa, FTSe
BT g fazeiyor Hd! 8:

1. Observation/ T
2. Questionnaire/ PEIGKS|
3. Interview/ HI&Th R

4. Case-Study/ UDHRU hl AT

Correct Answer :-
« Case-Study/ YUl bl AT
31) CANCELLED

Which among the following is the objective of ICDS Scheme?/ FU# d #14,

ATSASTTT T BT IgexT T8l 32

1. To improve the nutritional and health status of children in the age group of 0-6

years/0-6 T4 3T THg & a=! & U1 U4 AT TR H YUR HAT

2. To lay the foundation for proper psychological, physical and social development of
the child/ = & TYfRId AAtaTIA®, IRING 3R rrfoie faewm &1 snurR fAfa s

3. To reduce the incidence of mortality, morbidity, malnutrition and school droup out/

TRURT AT, §g-&x, UV, TUT T Ble B & & BT HIAT
4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ SURIad Tt

32) Which among the following statements is False?/ A9 & & &9 91 ®4= Tad

2

1. An impairment may or may not lead to a disability/ AT & HRUT 2T &1 a1 g
GRSEIR

2. A disability may or may not result in a handicap/ M:Xaddl & SR fawaTdT 81 a1 Tal
g gpal g

3. A person whose body is not normal also has a mind that is not normal/ 39T &fad

RIg®T TRR IEM A 81, 96T AfTs Ht gra=a 8! gidT|

4. A disabled person may be handicapped in some areas/situations, but not in others/

Dl (- 3ad Afad Fo &= /aifRufadt # fawmar g gedr § afed s =1

Correct Answer :-

« A person whose body is not normal also has a mind that is not normal/ o Afad

e IR GE= A 81, 391 ARass i IH= 6! gidil
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33) Which among the following Ministry has the overall responsibility of

monitoring the ICDS scheme?/ g A A foog dameay & urg mﬁ"ﬂﬁﬁ
R &1 9w SR 82

1. Ministry of Women and Child Development/ Hfgdl Td aTd faerg Hared
2. Ministry of Child Development/ HFd I91¢ famra Hare™
3. Ministry of Health and Family Welfare/ W4 Td URAR Hed0 HATAT

4. Ministry of Social Justice and Empowerment/ JTHISI® <a1g U4 HfUHTIRAT HaTe™

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td aTd fasrg Haed

34) Which among the following are critical for the development of

creativity?/ 19 & @ #\4, Ye-Ta®al faera ¥ Hewayuf 82

1. 5 to 6 years when children are ready to enter school and they must learn to accept
authority and conform to the rules and regulations/5 ¥ 63‘&3’&’6@%@%{%@
TR BId & 3R 9 WISR T WHR ST adl o) g faf om0 &1 qur ey urae &A1 ¥had g |

2.8 to 10 years when there is a desire to be accepted as a member of a gang/8@r 10

Y OF g & Yo P U T Wipd [T oF B AThie gt 81

3. 13 to 15 years when children are striving for peer approval, especially from

members of opposite sex/ 139 15 EAECEERIREIE \’r@:ﬁ?{, IRy fauia fefr arat
T § STHIGH g TN &3 g |

4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWRIad gt

35) Children begin to develop an understanding of themselves as separate
and distinct from the environment, causality, time and space in which stage
of cognitive development?/ SUTd® fIeTT & ford w1 # = wafarur, RUMET, 994
3R ferwi A guw 3R fARRy WU &t aus fasfra e uRy w3 3d &2

1. Sensorimotor/ HddIUR®
2. Pre-operational/ Jd-dfsharéie

3. Concrete operational/ 319 Ifhard®

4. Formal operational/ 3fu=ike Tfsaras

Correct Answer :-

« Sensorimotor/ TAdIIRS
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36) The sequence of elements constituting the process of learning is:/ 3t

) wfran fFmfore ol o1 94 6

1. The stimulus, the learner, and the response/ 3gdiud, fRuenlf, siz ufafsar
2. The learner, the stimulus and the response/ Remff, Igcius 3R ufafsmar
3. The response, the stimulus and the learner/ Hﬁ‘lﬁﬂﬂ, E’EEﬁW 3R fRremeif
4. The stimulus the response, and the learner/ BE??FW, gfafean, 3R fRremeff

Correct Answer :-

« The learner, the stimulus and the response/ ﬁ[&ﬂ%ﬁ, GTQPFW 3R ufafsran

37) Abnormal repetltlons and prolongation of speech sounds occur in:/

SRITHT TR 3R arep caf~al &1 Steffeor s giar 2:
1. Stuttering/ gddigc

2. Cluttering/ favaRo g

3. Distortion / fowmu

4. None of these/ T8 J &S Al

Correct Answer :-

« Stuttering/ dhdllge

38) One of the concept which is not developed during early childhood years

is:/ 98 SAYURTN, St RIS STearawA1 F a6} & R fyw i 721 gt 2:
1. Relative location/ 3(TUf&e srafRufd

2. Relative size/ MUR® MHR

3. Classification/ dff@~ul

4. Abstract Thinking/ Gﬂlﬁﬁﬁ

Correct Answer :-

« Abstract Thinking/ 3fd I

39) According to which law of developmental direction, development spreads

from head to toe?/ fa@TaTa® fa=n & frd fFaw & sguR, fder R 9 v 9@ faRga
a1 82

1. Cephalocaudal law/ ﬁﬁﬁﬂwﬁﬂﬁ
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2. Proximodistal law/ UifagAIfsed fFaq
3. Patterned law/ Uc+ &1 |
4. Head and Toe Law/ RR ¥ Ui &1 a9

Correct Answer :-

. Cephalocaudal law/ Rithargga fad

40) The concept people have of ‘who’ and ‘what’ they are, is known as:/

il Bt T B P R "HT' D ATYUROIN, Hgard g
1. Self esteem/ ¥ UfamT
2. Real Self Concept/ dRald® I {YURUN

3. Ideal Self Concept/ 3TER T YR

4. Social recognition/ IS A=

Correct Answer :-

« Real Self Concept/ aRdldd ¥4 SAYRUT

41) The embryo begins to differentiate itself into three distinct layers known

as:/ YUT &4 & 91 faRRy wal & fanfea swar 8 o) sgardt €
1. Ectoderm, Mesoderm and Endoderm; STEU@ET, HEOSRR 3R Sfdo%R
2. Microsystem, Mesosystem and Exosystem/ H\&%TQUHEﬁ, T, EIRC IS

3. Pre conventional, Conventional and Post Conventional/ Uﬁ Fietld, Fleird 3R U

HfeTd
4. Dermis, Epidermis and Endodermis/ ¥, STga@T (3ifer) 3R 3fawadn (3fayH)

Correct Answer :-

. Ectoderm, Mesoderm and Endoderm/ STEd@dl, HEIGHRR 3R iR

42) Pre-schooler belongs to which stage of Kohlberg’s theory of morality?/

W-TpeR (Fd Id 31 & 9, DA & Afaepar » Rigia & fa @wor J w&afia 82
1. Morality by constraint/ sTeaar 9 faear
2. Social system morality/ 1SR YumTet Afasdr

3. Social contract or utility and individual rights/ T Tfder a1 IuTfirar 3R safaaTd
SHIYBR

4. Universal ethical principles/ JraHH Afae Rigid
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Correct Answer :-

» Morality by constraint/ Srear ¥ Afaedr

43) Article 19 of the UN Convention on Rights of the Child provides:/ HYad Y
T ITUPTR TS BT 3 Tde 19 FIT WTTUTH HT 8-

1. Scholarship to children with special needs/ fafR1y sfra=gedrsil ard s=f &1 BEGHRI

2. Access to information and mass media for children/ Sl 8q a3l Td SFRAR ATEH]
d% Ugd

3. Protection to children from all types of violence, exploitation, neglect and abuse/

Tuft R Pt fen, Iafte, Iue 3R gedagR q sl &1 TREful

4. Freedom of association to children/ Sl 8g TG P TciAd]

Correct Answer :-

» Protection to children from all types of violence, exploitation, neglect and abuse/

Tuft R Pt fen, Iafted, Iue iR gefagR q st o1 TREUl

44) Which among the following institute is situated at Dehradun?/ fufaf@a #
A DI AT TR gvTg | e 82

1. National Institute for the Visually Handicapped/ 810 ef¥afed faeei dwim

2. National Institute of Mental Health and Neuro Sciences (NIMHANS)/ TI'@?{IIFTW
Wy Td dfAeT fag G=IM (T3EuHuaueuy)
3. National Institute for Physically Handicapped,/ 31 YRR fabaiv T

4. National Institute for Hearing Handicapped/ TSI #aU1 faehaliv TR

Correct Answer :-

. National Institute for the Visually Handicapped/ 1§13 =f¥sierd fae et SR

45) Which among the following is used as an efficient mobility aid for the
visually impaired?/ fFa ¥ 9 f5a yauaifia afed gq T guTdt Oaa J8d® & S0 d
IuGT foraT ST 82

1. Hoover Cane/ §ax &
2. Snellen Chart/ T T

3. Dogs/ ﬁ

4. None of the above/ SRIgd & A dﬂ'{fﬂ'ﬁﬁ

Correct Answer :-
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« Hoover Cane/ §aR &+
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